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1). Whiclkcwedthl indveldial rargease shdubijecasdhl @nai | . com

to “Weld decay” defect? | AicaTT Ufhddicl SI0TAT

YT "deS &T” Y 31Tg?

(A) Brass | fUde

(B) Copper | GICH

(C) Mild steel | 99 Td

(D) Stainless steel | WY W

Correct Answer : D

2). Which alloying elements are found in brass? |
ST A HIU [T geh TeosdIa?

(A) Copper & Tin | did 3101 Bl
(B) Copper & Zinc | did ATfOT Sivd
(C) Copper & Lead | did 3101 R4
(D) Copper & Nickel | dia 310 (Al

Correct Answer : B

3). Which steel material are not weldable? |

T gt ofcE T SHRuaEg el

(A) High carbon steel | 3= CARERSI
(B) Medium carbon steel | A HTe Tid
(C) Austenitic stainless steel | JfeHfed Taag ¥id

(D) Ferrite and martensitic stainless steel | m 3Tfor

Correct Answer : D
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4). Which flame is suitable for brass welding? |

fUdes AT B S Ay 3M1e?

(A) Neutral | dC®

(B) Oxidizing | SIS
(C) Carburizing

(D) Slightly neutral | fdhf<id Te®y

Correct Answer : B

5). What type of test is visual inspection test? |
fe g 3{e qumUil =M<ufl HIUTAT YhRd Tl 3MTg?

(A) Non-destructive test | AT -fSTfdies ¢
(B) Destructive test | fe¥fdaesg ¢

(C) Non-destructive and destructive | G -%«;f&«o@ 3TfOT

A

(D) Performance test | HRI&HdT Trof

Correct Answer : A

6). What is the use of metallic arc cutting and

gou ing%ﬁm&ném&nﬁriﬂﬁhmm
B’CITI%T ?

(A) To remove casting | BIRET HIGUITS!
(B) To remove rivets | Y wrevaraTdt
(C) To remove dust | Y& HTGUITS!

(D) To remove weld bead | 4TS &€ HIGUIRIS]

Correct Answer : B
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7). What is the melting point of copper? | ATl
fddesvarer foig o1 3Mig?

(A) 419°C

(B) 620°C

(©) 950°C

(D) 1083°C

Correct Answer : D

8). What is the name of part marked "X’ shown in
figure? | TP GRadaed ‘X' fogifhd YR
d B 362

(A) Job | FIHd
(B) Kerf| P
(C) Covering | UTeR=T

(D) Steel core | T DR

Correct Answer : B
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9). Which type of electrodes are used in oxy - arc

cutting? | MR - 3fTch HITHED bI0TT Yeb IRl

$Q'1d'CI5 qIoRd SITard?

(A) Tubular | TR
(B) Carbon | HTe

(C) Hydrogen | qugla:l
(D) Low - Hydrogen |$lﬂ - Elqélx_ﬂq

Correct Answer : A

10). Why aluminium is difficult to weld? |

SoegfARgH AfeST HRUI B30T BT 3MTe?

(A) Less weight | FHH! goi
(B) Oxide formation | GI'\I’T@R‘-'I'IE%" fafde

(C) Highthermal conductivity | 3= YHd ATadhdl

(D) Better strength weight ratio | FRTel AT goi4 JHTOT

Correct Answer : B

11). What is the name of t\he tool §hown in the
figure? | THAHY GRAACI] Card A1d BT 3Tg?



javascript:void(0)
javascript:void(0)

Page 5

(A) Brazing cutting tool | a%mW;a

(B) Carbide brazed cutting tool | HTHISS 4SS HicT g
(C) Single - point brazed tool | RTcT - TiSE 88 ¢
(D) Double - point brazed tool | 9d UISE S €l

Correct Answer : B

12). Which alternative procedure is used if other

cutting and gouging process are not available?
QT-REF??’T&H%[ gichaT SUTY THAT
Gt UfchaT aTuRe! Sl

(A) Friction welding | iR afcET

(B) FCAW welding | FCAW afcgT

(C) Arc gouging | 3 MR

(D) Sub merged arc welding | 9 7S 37T afcg

Correct Answer : C

13). Which type of test is generally not used on
the final product? | 3ifdH IATGATIR HHRIG:
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BT YBTRT! ATAUN qTORel ST ATe1?

(A) Non-destructive test | A -i:%%gl?qcoe o

(B) Semi destructive test | @ﬁl@gfﬁéﬁ
(C) Destructive test | oY I
(D) Visual test | TSR TTA0H

Correct Answer : C

14). How the weldrirrlg cost is calculated? | CIRSUE
foberd it HISTell STcl?

(A) Electrode, Power, Labour | Eﬁﬂﬂg tlvm AR
(B) Grinding, Power, Labour | RIS, UlaR, WeR
(C) Lighting, Labour, Material | 9hTY], day, dfed
(D) Power, Labour, Painting | OiaR, darufen

Correct Answer : A

15). Which flame is suitable for low carbon steel

in OAW? | OAW T ! hla- Il HIoTd
Sd g 3Tg?

(A) Neutral | Tc®
(B) Oxidizing | 3ffaasTafziT
(C) Carburising | Eb_@ﬁ'%ﬂ

(D) Slightly neutral | fdbf<id Te®y

Correct Answer : A

16). Which type of arc cutting is shown in the
figure? | THAHE HIVAT YhRT! 3T hicT]
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auifaett 3mg?

B
(A) Plasma arc | WITSHT 3Th

(B) Oxygen arc | SfRIeI 3Th
(C) Metal arc | YTq 3T

(D) Tungsten arc | ¢TRe 3T

Correct Answer : B

17). How weld decay can be removed from
stainless stf;% LAY LU dc {§h &
BIEA SIS Yhd?

(A) Peening | fUfif
(B) Cooling in oil |éamﬁra§ﬁ-m
(C) Cooling in sand | dlogq%a SASll
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(D) Heating up to 950° to 1100°C and quenched in water |
950° o 1100° T wdfd TRH 31T UTUATa

Correct Answer : D

18). What is the name of the preheating shown in
figure? | STHaHY TRifdciean MigfET A1a &1

(A) Full | gui
(B) Local | RITH®
(C) Direct| e
(D) Indirect | $TUTE

Correct Answer : B

19). What is the percentage of carbon in medium

carbon steel? | HHH PIe- TIaHed HIe- bl
Coh 387

(A) 0.05% to 0.30%
(B) 0.05% to 0.8%
(C) 0.30% to 0.6%

(D) 0.6% to 1.2%

Correct Answer : C
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20). What is the name of the test shown in the

g%reua{mmﬁma@wamﬂ%maw
?

(A) Impact | U4HId

(B) Fatigue | Y dl

(C) Face bend | aBT[W&[

(D) Fillet fracture | fpdie thaeR

Correct Answer : D

21). What is the name of test shown in the

figure? | 3TPpcHL aRifdcied AU A1d B
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(A) Tensile test | UG Ar0R
(B) Impact test | UG TATIUN
(C) Free bend test | Tt CERL

(D) ' Guided bend test | Guided 48 ¢¥

Correct Answer : D

22). What is the melting point of pure
aluminium? | S a{e:::::sa%irﬁawigﬂwwmﬁg

P 3Te?

(A) 320°C
(B) 450°C
(C) 659°C

(D) 1083°C

Correct Answer : C


javascript:void(0)
javascript:void(0)

Page 11

23). Which cast iron is soft? | ®IUMT HRE T

03 3MTe?

(A) Grey cast iron |'§[W?ﬁ'ﬁ'
(B) White cast iron | UiG<T R AIg

(C) Nodular cast iron | -I\I§('N HE A8

(D) Malleable cast iron | HGHSUIR] HRE TG

Correct Answer : A

24). Which is a property of cast iron? | ®IRc
TOTEH HIOTT 3MTG?

(A) Brittle | 3

(B) Ductile | cfafidh

(C) Non=Magnetic | TR - Ge&1d

(D) Low compressive strength | Wﬂwfiﬁ?ﬁ

Correct Answer : A

25). What are the main elements are jound in
stainless steel? | Y LIaHE HIUId T °Ch
Hlgaddld?

(A) Zinc, Copper & Tin | S, GIERINERIN]
(B) Zinc, Copper & Nickel | ST, did 30T Hoba

(C) Tin, Zinc & Iron | ®td, ST 30T dIg
(D) Iron, Chromium and Nickel | ?ﬁ'ﬁ' st nfor fAde

Correct Answer : D

Contact - 9370948482, 8055403224, 9325721873
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26). What is the colour of copper? | died=T T
DI 3Tg?

(A) Blue | T

(B) Yellow | fUdesT

(C) Maroon | A=A

(D) Reddish | €TeTAR

Correct Answer : D

27). Which is.used to control the distortion in
copper welding? | ATsAT=AT AfcSTHEIE HIOTT
d‘J'{UqI{-IIOI dqlyx ohcﬂ GITEﬁ'?

(A) Key hole | ! 8Id

(B) Chill plates | 48 wexd
(C) 'Purging gas | I Y HRUI
(D) Filler rod | ftheR XS

Correct Answer : B

28). Wh|ch cast wongs ssess higher hardness? |
3 HARAT 3TA?

(A) Grey cast iron | U &R dlg
(B) White cast iron | i1 ®I¥e AE

(C) Nodular cast iron | -I\I§('N HE A8

(D) Malleable cast iron | HEHSBUIRT ¥ m\ls

Correct Answer : B
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29). What is the name of the part marked as ‘X’

shown in the figure? | TpaHed X' U
Fgifdd Beicdl R 19 BT 3Mg?

%,%g%
7

- T
-

X

(A) Spray | o

(B) Electrode arc | ?ﬁlﬂiﬁ_s' 3{Th
(C) Power lead | iR oite

(D) Flux coating | eToRT P

Correct Answer : A

30). Which is a property of aluminium?
- wuﬁ%cw 3{Tg?

3

(A) Magnetic | ﬂ_ﬁlﬁq

(B) Less ductile | HH! dafad

(C) Non - Magnetic | TR - ga@ig
(D) Brittleness | W’UIT

-------- COFrEEt ARSWEF - - - - - - - - - - - s s oo oooo-o---o----o
Contact - 9370948482, 8055403224, 9325721873
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31). Which type of steel is suitable for welding? |
IV UhRd LIl AN 357

(A) Ferrite|ﬁv_\"|3_<:’

(B) Martinite | ATfcATgC
(C) Austenitic | T fAfe®
(D) Pearlite|‘ClFI1r'!3I'cr

Correct Answer ;: C

32). Which test method is conducted to find the
tensile stre% | I ol M
0l Ugd EIGK

(A) Impact | U4Id

(B) Tensile | d-cT

(C) Fatigue | B

(D) Guided bend | AFfRia a8

Correct Answer : B

33). What is the test is gonducted without
destroying the job? | SiTd ¥ 7 &l HIU! AUl
ERNIESIGR

o

(A) Destructive test | 1 %gi?orCOE; o
(B) Non-destructive test | 1 -fSfaaesg ¢
(C) Semi-destructive test | TH -%%gl?dcos e

(D) Visual inspection test | fegsg 3T QUi Ar=oft

Correct Answer : B
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34). Which one of the flux is used in brass

welding? | ST AfeSTTHY HIUAT UeTeRTal dT0R el
EIGIK

(A) Borax | SIRe

(B) Zinc chloride | ¥ TaRSS

(C) Sodium nitrate | SfSTH ARICE

(D) Copper silver alloy | dis diat fl% a1

Correct Answer : A

35). What gas flame is used to weld 2mm mild

steel by brazing method? | ﬁf?ﬂﬂ}f?ﬂﬁﬁ 2 mm

hilis 908 HRUATHIA! PHIUMC] 319 TelH dToRall
?

(A) Neutral flame | dCX ard
(B) Carburising flame | Carburising id

(C) Oxidising flame | er”r%lmf%muﬁn
(D) Oxy-hydrogen flame | aiﬁa-m@muﬁn

Correct Answer : C
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36). Which test method has the application of
sudden force on an object? |

Ga e TR a3 il aIiR Bl
?

(A) Impact | Y4TI9
(B) Fatigue | BT
(C) Tensile | ddl

(D) Free bend | Jad s

Correct Answer : A

37). Which defect occurrs in stainless steel? |
AN LI BT 1Y Swadi?
(A) Arc blow | 31 &l

(B) Distortion | ﬁﬁ‘ﬁ
(C) Weld decay | a1 &4

(D) Lack of fusion | IS SHARI

Correct Answer : C

38). What flux is used in welding brass? | Udes
JfcET A HIUTAT Ty aTuRel Sidi?

(A) Anti - borax | 3 IR
(B) Borax paste | TR U
(C% Cryolite and barium chloride | foanarse sfor afvad

(D). Zinc chloride and potassium dichromate | ma%hﬂé—s
3{TOT IR SahHT

Correct Answer : B
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39). Which defect occurrs dl;jef[ to Ioi%?ﬁ‘ zinc in
brass welding? | STH dfeSTHed {9 %IFQIH&
ﬁwaﬁweﬁ%’f?

(A) Spatter|¥l':IJE?

(B) Porosity | Afessdr
(C) Overlap | 3T Ty
(D) Under cut | 3/8I &

Correct Answer : B

40). What are the common alloying element of

brass? | [UdST WA FAYHT Tch DI 3HTea?

(A) Copper and tin | PR 30T fem

(B) Bismuth and tin'| fS=gY 31for e

(C) Antimony and tin | 3fEm anfor fem
(D) Copper and zinc | PIU SATIOT oI

Correct Answer : D

41). How many stages are there in visual
inspection in NDT? | NDT 3¢ feggaial
JUTUiETT fohdt T ST ?

(A) Two stages | GF W

(B) Three stages | @19 €@

(C) Four stages | IR T

(D) Five stages | g e

Correct Answer : B
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42). What is the percentage of carbon content in

?nil%dsteel?@m@m‘eﬁﬁéqﬁmﬁaﬁ
?

(A) 0.05to 0.30
(B) 0.12 to 0.35
(C) 015t0 0.4

(D) 0.7 to 0.45

Correct Answer : A

43). What is the name of\the tooLshown in the
figure? | STHAH TRITAIET T A1 BT 3HTg?

(A) Brazing cutting tool | aﬁmﬁé‘nga
(B) Carbide brazed tool | 123 5 T
(C) Single point brazed tool | RiTd Uige S8 ¢dl

(D) Double point brazed tool | $8d Ulec 58 ¢d

Correct Answer : A
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44). Which stage the root gap is set in welding
process? | AT UfchTHE ¢ 11T HIUAT TUATd

T Pl Sfld?

(A) Before welding stage | AfET Twra an<h
(B) During welding stage | At ol G

(C) After welding stage | e T W R
(D) Finishing welding stage | ST ol fhHR

Correct Answer : A

45). What is the necessity of aIonlng elements? |
&[‘H?ﬂ@‘ddwldl IRl oplY

(A) Improve physical properties | ﬁﬁawaﬁ JYURT

(B) Improve chemical properties | W{Mﬂﬁ JYURT
(C) Improve corrosive properties | &Rdb ‘IUT%I'J{[ JURI

(D) Improve mechanical properties | W'{IUT@ JYURT

Correct Answer : D

46). What is the melting point of zinc? | SI¥ddIl
fadesvaren fag &1 3mg?

(A) 200°C

(B) 419°C

(C) 619°C

(D) 1083°C

Correct Answer : B
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47). What is the NDT method using sound as a

f}oﬂ%rce? | I T 31T dIoRe NDT Ugd B
?

(A) Visual inspection | fegsg3rat qurauit

(B) Pressure test | TR ¢

(C) Stethoscopic test | WY RDITUSH ol
(D) Magnetic particle test | b g BT =TI0f

Correct Answer : C

48). How many types of cast iron available? |
BHRE A fdhcll UHR IUAS 3MMeal?

(A) 2
(B) 3
(€ 4

(D) 5

Correct Answer : C

49). Which type of arc cutting is shown in the
figure? | THAHY DT Yh R 3{Tch hicT]
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(A) Metal arc | UTq, 3Th
(B) Carbon arc | ARG RCIC
(C) Oxygen arc | ffaao 3T

(D) Plasma arc | WIgHT 3T

Correct Answer : A

50). Which cast iron offers greater resistance to
shock? | DIV HIRC TG+ Alehell 3HTedH

UaT &d?

(A) Grey cast iron | Y PR A8

(B) White cast iron | i1 HRC dlg

(€) Nodular cast iron | -I\Ich HIE A8

(D) Malleable cast iron | g1 H*e g

Correct Answer : D
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1). Which toxic gas is produced during GMAW? |
GMAW TREI HIUTd] %&R?GT@W%H’[

(A) Ozone | Gﬁ@q
(B) Oxygen | 3TfeRTS
(C) Nitrogen | -_-HT@GF[

(D) Hydrogen | 6|a:;i|a:|

Correct Answer : A

2). What is the name of welding process if the arc
produced by a consumable metal electrode is
protected by inert gas? | SR dvlii#dﬂ smorcls
AR S7¢ 119 =47 WIGTAT 31T GaR ot aR ot

HI0TT Yh R afca] d?

(A) SAW
(B) MIG welding | MIG dfesT

(C) TIG welding | TIG afc&T

(D) Plasma welding | AT AfcET

Correct Answer : B

3). What is the name of part markergl as_r’\X’shown
in the figure? | ATHAHE ‘X' WU fgifdbd



javascript:void(0)
javascript:void(0)

Page 23

Heicd] HITR AT BT 3T5?

(A) Electrode wire | 3@3@3 daR
(B) Contact tip | §Ue 0
(C) Nozzle | eIl

(D) €O, gas | CO, T

Correct Answer : C

4). Which defect can be avoided using run on
and run off pieces? | X1 N REIUES] &WW
AU HIVT Gy Tl Usa?

(A) Crater | $PICY

(B) Under cut | S Db

(C) Porosity | gf&dgdl

(D) Spatter | Wcx

Correct Answer : A

5). Which hand tool is used to open a gas
cylinder in welding practlce7 | 3%5"’71;”%?1[@[
Y Rfdex SUSTaNIS! HIUd 88 ¢d aluRd Sild?
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(B) Allen key | Gc< &1

(C) DE spanner | DE TR
(D) Spindle key | Risa ot

Correct Answer : D

6). What type of device is used in wire feeder to
allow gas flow? | 779 UaTgR URAI! ¢ UITTat
IR u%wv?f JoRd S8y R Siid?
(A) Burn back | GRd STTesUl

(B) Purge switch | TSl &I

(C) Spot timers | W\IJ?.'E'I?ET

(D) Stitch modes | ea A

Correct Answer : B

7). Which operation is to relieve residual stresses
from the welding joint? | a\:fcls"T SlIgcHYA ARy
dIoT &R DU TR 3Te?

(A) Pre-heating | Gd &I
(B) Peening | TGl

(C) Drilling | fefciT

(D) Post heating | TI¥e BIfeT

Correct Answer : D

8). What is the name of the defect shown in the

figure? | 3P GRATA GINT A1d BT HTG?
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L)
T

(A) Spatter | e
(B) Porosity | Gicdgdl

(C) Incomplete fusion | 3rquf W&
(D) Excessive penetration | 3ffd gawr

Correct Answer : C

9). Why the argon and CO, mixture is used in
FCAW? | FCAW T 3TV HT0T cO2 fH8ur &1
TR STT?

(A) Smooth spray transfer, with minimum slag | HUIT H
RITE 7S T gXIiaur

(B) Smooth globular transfer | ﬂ&‘iﬂ&ﬁ—d AR GEATAROT

(C) Smooth pulsed transfer | g YT c[=hr

(D) Smooth dip transfer | 9w 3y cl=qh

Correct Answer : A

10). How much gas flow rate is required to weld a
butt joint with 0.8 mm dia MS filler rod of wire
feed rate 3 - 4 m/min at 18 to 20 volts? | dTIR

IS YeAT 0.8 mm SIUTYH THTY heRk IS8 §¢
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SCUITAT SISUITTa! fabd! 119 Uell ¥E 3TIRg e 318 o
18 4 20 V 3-4 m/min?

(A) 6to8Lpm
(B) 8to 10 Lpm
(C) 10to12 Lpm

(D) 12 to 14 Lpm

Correct Answer : B

11). Which type of electrode provides protective
slag in flux cored arc welding? | U] PIs Sffep
& P THRT IS YRETHD Gld

e HRd?

(A) Tubular cored flux electrode | X Fis G

(B) External cored electrode | ST&] CAR) saq@s

(C; Additional cored flux electrode | 3ffdiRad ®Is T

(D) Shielding gas type only | Tdd 9 UhR R

Correct Answer : A

12). What is the name of the part marked as ‘X’
shown in the figure? | 3THAHS ‘X’ TGU
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(A) Work piece | RTHE P ST

(B) Filler wire | fFeR arR
(C) Conduction | g

(D) Convection | Tdg-

Correct Answer : B

13). What are the?%as.es mixed fgr shielding in
FCAW? | FCAW T& TREUIRITAT 119 hI0Te %@H

?

(A) Argonand O; | 3RATA 3101 02

(B) Argon and CO; | 3R 3TOT COo2

(C) Helium and CO, | gferad 3Mfor co2

(D) Argon and helium | 3T 31foT Bferad

Correct Answer : B
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14). What type of preheating is done only at the
portions to be welded? dcs cbck*tll YRTIaR hacs

ST UHRD WafeT

(A) Full preheating |U;Uf1;ﬁ%ﬁ'r[

(B) Local preheating | R dgfen
(C) Direct preheating | Je el

(D) Indirect preheating | e Uisfc

Correct Answer : B

15). What causes distortion? | ﬁﬁ WTEJ,% gla?

(A) Less welding | ST dfesT
(B) Apply pressure | cdld ¢

(C) Dirty welding wire | TTferes dfcE T arR

(D) Excessive heat input | SIT*d SWIdT §9Yc

Correct Answer : D

16). What is the effect of higher cooling rate of
weld metal? | GG YI=Ul 3=l OQIQ'HI YA B

gfoms gidi?

(A) Hardness | hSHYUUN

(B) Brittleness | f{&gosyun
(C) Ductility | STafIdl
(D) Malleability | ATaifaferct

Correct Answer : A
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17). Why different type of pressure rollers are
used in FCAW? | FCAW S¥TdTedl YRd CTel I
P ATUR SITdTd?

(A) Knurled rollers | Wﬁﬂﬁ
(B) Without roller of travel wire | dR =1 R Rrar

(C) With pressure of tubular wire | RIgR AR Gl

(D) Positive feeding without pressure on tubular wire |
AR dRIAR Gd1d T HIdl HPRIHD

Correct Answer : D

18). How are cracks in cast iron components

%%v|mmwﬁmww

(A) By using clamps during welding process | afeET ufehan
XHH clamps dl0o

(B) Similar to arc welding mild steel plate | 3Ad s gra
T WcaREd

(C) Local preheating & flame heating each layer | RS
digife armor YR TRH HId

(D) Cracks repaired usmg‘approprlate electrode | gy
$C1Q‘CI61'4I dllx o= opanpd|

Correct Answer : C

19). What is the purpose of preheat? | digle=n
3 DB 3M8?

(A) Reduces spatters | Wed HH B0l

(B) Reduces porosity | BIEERICIER

(C) Reduces crack | b HH! HI0I
(D) Reduces shrinking | Th - HH! H0)
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Correct Answer : D

20). What is the name of the part marked as ‘X’

shown in the figure? | &W‘iﬁ X' WU
fergifehd cheledt YT ATd BTy 3Te?

(A) Gear box | IR sy
(B) Centre guide | $g HricRie
(C) Idler gear | ST AR

(D) Wire feed roller | dRIR 1S IR

Correct Answer : C

21). Which is checked by preheated temperature?
S T e e s
?

(A) Chalk piece | Igdl ST
(B) Colour pencils | T ufya

(C) Colour crayons | T &
(D) Wax crayons | doq AT
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Correct Answer : D

22). Why the regulator is condense and freeze in

GMAW? | GMAW T XReR e~ HTfOT ThIS ol

3Mg?

(A) Dust | Y%

(B) Moisture | 3fterar

(C) Air leakage | 4T TTeacil

(D) Gas over flow | T 3ficex Uil

Correct Answer : B

23). Which is the weld position of GMA welding
if the weld is deposited underside of the job? |
OR e, Sliered] @Icil SH] dhel 3R X GMA
AfcSTrHT dee R pivrdt 3iig?

(A) Vertical position | 3 fuct

(B) Horizontal position | el fRua

(C) Over head position | Sl adt R
(D) Down hand position | Qret grard Rt

Correct Answer : C

24). Which gas is generated during GMAW on
using CO; as shielding gas? | GMAW cX&[- CO,
Tﬁm;ﬁ 19 U dTORdT dR HI0rAl 719 daR

?

(A) Helium | gfcrad
(B) Carbon monoxide | Wﬁ*ﬁ?\‘l’lﬁ@'
(C) Argon | iG]
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(D) Oxygen | 3IfeRTS

Correct Answer : B

% How is thermit mixture ignited? | yTc o
BId?

(A) Petrol | USId

(B) Diesel | SIid

(C) Fire stick | PR &b
(D) Magnesium ribbon | TIRR”H e

Correct Answer : D
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1). What is the name of the part marked as ‘X’
shown in the figure? | & X' U
Fgifdrd doiedl YT A1 1T 3Te?

(A) Gear box | TR sleq

(B) Centre guide | &g ANICRD

(C) Idlergear | S8R AR

(D) Wire feed roller | IR HIS AR

Correct Answer : C

2). What type of operation is generally used in
GMAW? | GMAW mfrﬂmmu%’f I Uh R

SR aTuRe SId?

(A) Automatic | 3fecHcH

(B) Semi automatic | I SfTcrHfe®d
(C) Fully automatic | Wﬂ icHHCH
(D) Manual method | fI'TQGWT AUrS

Correct Answer : B
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3). How many types of basic welding positions in
GMA we dlnﬁ? | GMA dfegHe UHRT Hob

(A) 2 types
(B) 3 types
(C) 4 types

(D) 5 types

Correct Answer : C

4). Which operation is to relleve reS|duaI stresses

from the welding joint? |
mma% eﬂ%?

(A) Pre-heating |Qﬁ@ﬁﬂ
(B) Peening |ﬁﬁ"’[

(C) Drilling | f&fciT
(D) Post heating | GIRc S

Correct Answer : D

5). What is the possibility of excessive spatter in
GMAW? | GMAW T¢I ST WieR gIudTl [l
DY 357

(A) Voltage too low | lecdl gy Sl
(B) Voltage too high | @lees YU TR 318

(C) Clean work piece | =5 DTHIE Jh Sl

(D) Sufficient shielding gas | W 2ffeET 719

Correct Answer : B
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6). Which toxic gas is roduced durm GMAW? |
GMAW &I hIUId] ?

(A) Ozone | Gﬁ@q
(B) Oxygen | 3TfeRTSI
(C) Nitrogen | -_-HT@GF[

(D) Hydrogen | 6|a:;i|a:|

Correct Answer : A

7). What is post heating? | UIRe BifeT ISl H1a?

(A) Before welding | afcST HRugmqdf
(B) After welding | AfcET Fav

(C) During welding |a%6i"'[m'|7‘f
(D) Before cooling | %S gIUaTdf

Correct Answer : B

8). Which angle of pre setting is to compensate
distortion on horizontal single V butt joint metal
thickness 10 mm and root gap 2mm? | U:qc QT

HI0dT B &fas RiTTa v 9 Sige Igad
SITS! 10 mm HIUT =€ 3idR 2 mm &R

HRUTS HRUGMNTST 38?2

(A) 173°

(B) 178°
(C) 180°
(D) 183°

Correct Answer : D
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9). What is the purpose of preheat? | PIREEIRSER
DI 3T8?

(A) Reduces spatters | Wed HH B0l

(B) Reduces porosity | BIEERICIER

(C) Reduces crack | b HH! B0
(D) Reduces shrinking | Th - HH! H0)

Correct Answer : D

10). Why the welder’s cloth should be free from
oil, grease etc, while welding? | dtS? d HUS dd,

U SATGIHYH Tord T S7a?

(A) To protect the job | e Y&UT HRUATST

(B) To deflect the arc rays | 31T T urdl fa=I HH! HROT
(C) To avoid catching fire | 3T UHSUl STSUATATS

(D)_ To safe guard your inner cloth | 3TTedT 3fTdilel HUS
TRI&d PRUGMIS!

Correct Answer : C

11). What is the name of the part ‘X'shown in the
figure? | ATHAHE GRIdcIed ‘X’ U A1 H1g
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—

(A) Electrode wire | '{?ﬁﬁj@:’ diIR
(B) Contact tip | §U® ¢1q
(C) Nozzle | AloId

A4

(D) CO,gas | CO, I

Correct Answer : B

12). How much root-gap ‘X" is maintained shown
in the figure? | & Rifdeia e 719 ‘X’ o
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IRAS 3{Te?

X

(A) 1T mm
(B) 2 mm
(C) 1.5-mm

(D) 2.5 mm

Correct Answer : B

13). Which term refers to the width of parent

metal affected by thermal cycle? | DI T
aﬁf@mwmgéumﬁﬁ T Hed YTl ey
Taffd Hxa?

(A) Crater | I}

(B) Under cut | 3SX hc

(C) Over lapping | 3R iU

(D) Heat affected zone | SSTdT yHIfad Eﬁq

Correct Answer : D

Contact - 9370948482, 8055403224, 9325721873
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14). What is the use of back strips and bars

durlng weldlng'? | aﬁsﬂ PR dob R ATfOT

(A) To support the root pass | ¢ U T4 FRvarRISY
(B) To strengthen the job | ST&d §e5dhc DHRUARITS!

(C) To minimise the spatter | Wex HH! HRUMTS]
(D). To minimise the Distortion and Contraction | ﬁﬁ {07
3T HH

Correct Answer : A

15). Which welding process granulated fluxis fed

through hopEer to the weldlnE s§0t7 | dIT

Wﬁwaﬁr?

(A) GTAW
(B) SMAW
() GMAW

(D) SAW

Correct Answer : D
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16). What is the effect of higher cooling rate of
weld metal? | e YTl 3= <§3IQ’1‘I Y B

gRkumH gianr

(A) Hardness | hSHYUUT

(B) Brittleness | f{&gesyun
(C) Ductility | dTafIdl

(D) Malleability | ATaifaferct

Correct Answer : A

17). Which device is used to control the speed of
wire electrode in GMAW? | GMAW T IR
aToRd il

(A) Torch|Trd

(B) Contact tip | 99 U
(C) Steel liners | WId 3R
(D) Wire feeder | IR WIS

Correct Answer : D

18). What defects occur to a weld joint, with
insufficient heat |nput7 | YT LGS g1YcHe
dts HIgcHY BV QY Iegddld?

(A) Spatter | W

(B) Lack of penetration | Gf-I¢=I4 4T 3{HTG
(C) Crater| Eaed

(D) Uneven bead deposit | STAME 'S

Correct Answer : B
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19). What is the name of the defect shown in the

figure? | 3MPdIHY GRATIHT GINTY ATd B 3AT?

o

(A) Spatter|ﬁ€?
(B) Porosity | s sl

(C) Distortion | fadhdil
(D) Burn through | ATSHTIA S50

Correct Answer : D

20). What type of device is used in wire feeder to
aIIow as flow7 | 71 GaTET WA et
SCARE I606I$H aTaRe STd?

(A) Burn back | TRd S50

(B) Purge switch | Ul g9
(C) Spot timers | Wi CIgHR
(D) Stitch modes | g ars

Correct Answer : B

21). Why the argon and CO, mixture is used in
FCAW? | FCAW H&l 3T 31701 cO2 faigur o
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JTORS SITdTd?

(A) Smooth spray transfer, with minimum slag | HUIT H
T 7S Tl gl

(B) Smooth globular transfer | {lw{lobnld MATHR XU

(C) Smooth pulsed transfer | S GgT TR
(D) Smooth dip transfer | @Wﬁqm

Correct Answer : A

22). Which metal is welded with self shielded
type FCAW? [ Jo Riice Hhedl FCAW UHRId
DIUTAT YTl SISt dhell Sia?

(A) Aluminium | SogATH

(B) Copper | PHIR

(C) Carbon steel | Prad W

%FﬁDifferent metal and different position | P %ﬂq&ﬂﬁ[f‘l\-ﬁ

Correct Answer : C

23). How many method of shielding in FCAW?
FCAW Hel fRIeg e fobell gt &%

(A) 2
(B) 3
€ 4

(D) 5

Correct Answer : A

24). What should be the initial angle of two

-------- plates in-a T joint-if-the final angle-betweenthem - - ... ... ...
Cont act - 9370948482, 8055403224, 9325721873
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is 90° after completion of welding? | Wéﬁeﬂqﬁ
ATTAAR ATl AT hlH 90° I RT

e g Wied URIN® HIF ST 31Ta?

(A) 93°
(B) 90°
(C) 85°

(D) 75°

Correct Answer : A

25). What type of rollers are used for flux cored
with? | B hlsdIo] Ul Yh R
KIGIGK

(A) V- Roller | & - e’
(B) V - Knurled
(C) U =Grooved | U - @rauff

(D) U - Knurled

Correct Answer : B

26). Why carbon and manganese are added to

lain thermit mixture on rail welding? Rf[
gficlsma?ww YHe fHYUHS BTe SO HTHIS P

SIENASIGIGE

(A) To get good fusion | ATTel WoIH U iquaraTdt

(B) To get hardness | H3 RN Hrefararard)

(C) To get fine welding | BT Jfee fasfauararat

(D) To get smooth finishing | Wﬂwmﬁw

Correct Answer : B
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27). What is the name of part marked as

X'shown in the figure? | THdEH X’ TUHA
frgifhd Becd U 919 1T 3Mg?

(A) Wire feeder | dIOIR BHie

(B) Auto torch | 3fTel ard

(C) Flux hopper | GeTRT IR

(D) Electrode lead |3ﬁ3@€?ﬂ3

Correct Answer : B

28). Which operation cleans the cylinder valve

before flxmg the regulator to the Argon cylinder?
| ST Rictexde WUHTCEFP aﬁm%

WWWWW?

(A) Closing | §@

(B) Opening|6’ﬂ3?f\’rﬂ35’
(C) Shutting | T

(D) Crackingl%ﬁ?ﬂ

Correct Answer : D
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29). Which hand tool is used to open a gas
cylinder in welding prg\ctice? | ?%”Tm?ﬁ
9 Rifeiey STSTIMIES! divld B8 ¢l dIuRd Sd?

(A) Xkey | X @I

(B) Allen key | Y@ &t

(C) DE spanner | DE TR
(D) Spindle key | Risa &1

Correct Answer : D

30). What is the name of the defect shown in the

figure? | TP GRATICT GINTT A1G BT IHTR?
I

L\
a8

(A) Spatter|€CTET
(B) Porosity | Tfwsgdl

(C) Incomplete fusion | 3MqVf W&
(D) Excessive penetration | 3fd gaw

Correct Answer : C

31). How is thermit mixture ignited? | ¥Hc fars[or
HY Usdfald gid?
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(A) Petrol | USId

(B) Diesel | SIid
(C) Fire stick | PR &b
(D) Magnesium ribbon |ﬁ'ﬁﬁl’qﬂﬁﬁ?

Correct Answer : D

32). Which type of electrode provides protective
slag in flux cored arc welding? | %R DS 3
ST DIVl UbRd Sadels IRETHD GId

e Hd?

(A; Tubular cored flux electrode | R Pis FIaT

(B) External cored electrode | STg] GAK) sc}ldc,;\ls

(c% Additional cored flux electrode | 3{fdT¥a BIe T

(D) Shielding gas type only | Thdd T UHR RIS

Correct Answer : A

33). What is the name of welding process if the
arc produced by a consumable metal electrode is
protected by inert gas? | SR YA IadClS
dIU= S9¢ 19 =1 A8 3T daR il o ol
DIV YhRH! dfegT 3e?

(A) SAW

(B) MIG welding | MIG afe&

(C) TIG welding | TIG afe&T

(D) Plasma welding | TTSHT dfedT

Correct Answer : B
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34). What is the name of part marked as

X'shown in the figure? | THdaH X’ TUHA
Fgifdd Beicdl HIT 19 BT 3Mg?

(A) Electrode wire | Ea?ﬁj_s' dra]
(B) Contact tip | §Ud 0
(C) Nozzle | Fioia

(D) CO;gas | CO, TN

Correct Answer : C

35). Which rollgr is used to feed aluminium and
soft wires? | 3-ogATH 0T T3, dRRAT
BISTA! HIUTdT R ATuRd SITdi?

(A) V - Rollers | V - e

(B) U - Grooved | U J@ deid
(C) V- Knurled |V - Td daid

(D) U - Knurled | U - Td &aid

Correct Answer : B

36). What is the groove angle for single 'V’ butt


javascript:void(0)
javascript:void(0)

Page 48

SligcHal o8 e fobdil 3MTg?

(A) 10° to 20°
(B) 25°to 30°
(C) 40° to 45°

(D) 50°to 55°

Correct Answer : C

37). How the filler wire is fed in the GMAW
welding process7 GMAW afeST ufebdd flheeR
IR i faar

(A) Manually | 8Td

(B) No feeding | Al ®If&T

(C) Automatically | 3ciHfeHed
(D) Semi automatic|ﬁ3{\@ﬁﬁ$

Correct Answer : C

38). What is the purpose of normalising? |
g% 35X D1

(A) To control hardness | HSHYUN HUFd HIUAS!

(B) To prevent cracking | B CIBSUYNTS!

(C) Welding operation easier | afeET IR Y

(D) Grain uniform grain structure | mnﬁaruuﬁﬁm

Correct Answer : D

39). Which is checked by preheated temperature?
| STURE TRY Hoied] AUHEMIGR DIvd dUrE
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SIA?

(A) Chalk piece | @gdl b Sl
(B) Colour pencils | R

(C) Colour crayons | I hai-

(D) Wax crayons | dRT i

Correct Answer : D

40). What is the full form of FCAW? | FCAW d JU
U B 3HI?

(A) Flux Cored Arc Welding

(B) Fuel Cored Arc Welding

(C) Fluid Cored Arc Welding

(D) Flux Coal Arc Welding

Correct Answer : A

41). How much gas flow rate is required to weld a
butt joint with 0.8 mm dia MS filler rod of wire
feed rate 3 - 4 m/min at 18 to 20 volts? | AR
Wig Y&HT 0.8 mm SIUTH THTY ftheR I SHE o
SCUTTCT SIS UATTS! fobelt 714 Tl T TR eh 3T d
18 d 20 V 3-4 m/min?

(A) 6to8Lpm
(B) 8to 10 Lpm
(C) 10to12 Lpm

(D) 12to 14 Lpm

Correct Answer : B
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42). What is the name of the part marked as ‘X’

shown in the figure? | TpaHed X' U
Fgifdd Beicdl R 19 BT 3Mg?

=

%

(A) Work piece | SIHE P ST
(B) Filler wire | fFeR araR
(C) Conduction | dg-

(D) Convection | Hdg

Correct Answer : B

43). Which defect can be gvoided using run on
and run off pieces? | X {7 30T 37 3110 Jebs
qIORS DIUT GIY eT5dT dsd?

(A) Crater | sPTCXY

(B) Under cut | 38X &c
(C) Porosity | FfagdT
(D) Spatter | e
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Correct Answer : A

44). What is the name of the part marked ‘X’
shown in figure? | &W@W X'
fergiferc T 19 T 3MTe?

(A) Arcin roof | WX HeA TTY

(B) Long stick out | T IS8T TR

(C) Arcon side wall | STo[=AT fdiiar 9T
(D) Correct arc length | g 91 die!

Correct Answer : A

45). Which welding steel wool is used? | DI
afeS™ W qa dTURd Sia?

(A) SAW
(B) GTAW
() GMAW

(D) MMAW

Correct Answer : A

46). What type of rollers are used to Steel and

Hard wires? | ¥ 3107 8TS dTARATA! S IuTc

1
........ 197521 DL BTy R | L0 D 1 = 1=
Contact - 9370948482, 8055403224, 9325721873
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(A) Vrollers | é’fﬁﬁﬁ
(B) V knurled | &1 HRa>d

(C) U knurled | U kurled

(D) U grooved

Correct Answer : A

47). Why the regulator is condense and freeze in

GMAW? | GMAW A& XRgcieR dre— 30T ThIS ol

3MTg?

(A) Dust | 45
(B) Moisture | Sfferrar

(C) Air leakage | REIRICGI
(D) Gas over flow | g 3fieg? uall

Correct Answer : B

48). What type of preheating is done only at the
portions to be welde%%dcs Hlcdl HATTAR hacd

(A) Full preheating | qof tigfe
(B) Local preheating | wiTf® Wgfe

(C) Direct preheating | e Ulefe
(D) Indirect preheating | Y& Eﬂ%léll

Correct Answer : B

49) Which weldin process the arc is invisible? |
qﬁo—ﬁqa 3e?
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(A) SAW

(B) OAW
() SMAW

(D) GMAW

Correct Answer : A

50). What remedies should be taken to minimize
the porosity in GMAW? | GMAW Heile Tfasadl
HH HIVATS] BV SUIT Hal Ulfgeid?

(A) High current | 3= Udlg
(B) Work piece dirty | ST Jh sl T

(C) Dirty welding wire | TTfcT<® afcST AR

(D) Check proper gas flow rate | 7% 1T YdTg &< TUTHT

Correct Answer : D
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NIMI Mock Test

1). What is the urpose of H.F. unit in TIG
welding? | TIG HF gfHcdl 35’1 S

31T8?

(A) To produce the AC | AC R HRUTRIA!

(B) To change AC to DC | AC d DC Seaugrat

(C) To produce power supply | drer grdal HIVYTTA!

(D) To initiate the arc without touching the electrode on
the base metal | & UTq@¥iel geiag ol T 7 BT
3RY HI0

Correct Answer : D

2). What is the name of the part of TIG torch for
holding tungsten electrode? | <l $c10|CIS
TIG << =1 EUEIC)

(A) Collet | Pleic

(B) Adaptor | ST

(C) Ceramic nozzle | RRf¥e g
(D) Electrode cap | 3AdIS DU

Correct Answer : A

3). What is the full form of GTAW? | GTAW Tl
ERSREARECIS

(A) Groove Tungsten Arc Welding
(B) Grip Tungsten Arc Welding
(C) Gas Tungsten Arc Welding

(D) Galvanised Tungsten Arc Welding
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Correct Answer : C

4). Which defect is caused by high current in TIG

%%ding? | TIG afcETHeRd = Hec S HIUT ey
?

(A) Crack | ®

(B) Porosity | TRIRYE

(C) Under cut | 38T He

(D) Lack of penetration | ﬁﬁ%}mm SHHIT

Correct Answer : C

5). Which gas is heavier than air? | WHTQL
TV TS 31137

(A) Argon | T

(B) Helium | gfcraw

(C) Oxygen | 3RS

(D) Carbon dioxide | BT S TRISS

Correct Answer : A

6). Which gas is lighter than air? | WGTCL
BAU&T BAIDT 3MTe?

(A) Argon | 3T
(B) Helium | gferaw
(@) Hydrogen|6I€I§;|G:|

(D) Carbon dioxide | HT& ST RIS

Correct Answer : B

Contact - 9370948482, 8055403224, 9325721873
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7). What is marked as ‘X’ shown in the figure? |

MHAHE ‘X’ BUH S fgifdrd bl 3MTg?

(A) Torch | Trd

(B) Argon shield | 3T fres
(C) Arc|3dH

(D) Filler | TeR

Correct Answer : B

8). Which power supply is reco‘rprr\\endeql\for
pure tungsten? | R[& CTRCAHIS] HI0UTIT IS
Wﬂ%ﬁfﬁfﬁﬁwéﬁ-ﬁaﬁ?

(A) AC

(B) DC
(C) Inverter | Wé?

(D) Engine driver | S5 aTd®

Correct Answer : A

9). Which directs the correct gas flow over the

weld pool? | 98 JaIaR I 1Y YdIg IUrd]

Contact - 9370948482, 8055403224, 9325721873
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EREGERGI

(A) Leads | ©iied

(B) Collet | @il

(C) Back cape | d% HU

(D) Ceramic nozzle | Rrfie T

Correct Answer : D

10). What is the name of the part marked as ‘X’

shown in the figure? G{W?ﬁm X'
Frgifdhd dcied lﬂ“ﬂg(:ﬂ_dw 3Mg?

(A) Plug | &

(B) Switch | &
© CoIIetlﬁa'c.r
(D) Adaptor | 3SR

Correct Answer : C

11). What is the function of torch in TIG? | TIG o
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cldd Bl B 31g?

(A) To hold the electrode | 3@3@3 SAUIITST

(B) To hold gas heater | T\IJHEPT\’%EIWTBQT

(C) To control frequency | frer =t fFfd srugrrdt
(D) To hold the filler rod | fheR & STTATTA!

Correct Answer : A

12). Which welding is done by a small hand weld
un W|th a non- consumable electrode7 L
"II"I b HGIQ'1 $C1dCISH6 colq 66 qes

(A) SMAW
(B) GMAW
(C) GTAW

(D) Induction welding |3€TFZF[3%T[

Correct Answer : C

13). Which gas is used as inert gas in GTAW for
increased speed7 | dleld llﬁlﬂlgl GTAW I[?ﬁstlf
‘IH Ul p|Yidl I dlYxa] Gﬂ?ﬁ"

(A) Oxygen | 3fifdae
(B) Helium | gferaq
(C) Acetylene | UfRifeet=
(D) Hydrogen | TgIoH

Correct Answer : B
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14). What is the name of the part marked as ‘X’

shown in the figure? | W@m X'
Fgifdd Beicdl R 19 BT 3Mg?

(A) Colletholder | BT URD
(B) Cap |®U

(C) Collet | ®lcic

(D) Nozzle | T

Correct Answer : B

15). What is also referred as a GTAW? | GTAW
ISV 1 Tged Sld?

(A) TIG welding | TIG dfesT
(B) MIG welding | MIG afc&
(C) STUD welding | STUD afeg

(D) GAS welding | GAS afc&T

Correct Answer : A
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16). Which gases are used as shielding gas in
GTAW? | GTAW Al fRIGSIT 714 UL HIurd 714
GIPRNASIGIGH

(A) Argon & Helium | Tt 3Tfor gferaw
(B) Oxygen - Acetylene | SHTfeRTST - Ufeet=
(C) Carbon oxide & Helium | CAGE 31Td{-lli§6 3TTUT BferaH

(D) Carbon dioxide & Argon | TS SISHTSS SATOT S

Correct Answer : A

17). Which metal is welded only by GTAW7 |
DIV Ui Bekd GTAW R des ball

(A) Thin | 9Td®
(B) Round | TMicl
(C) Larger | HI&T
(D) Thicker | SIS

Correct Answer : A

1\8) What is the colour of argon cylinder? | 3T
RIS 1 By 387

(A) Red |9

(B) Black | 13T

(C) Maroon | ¥

(D) Peacock blue | AR AT

Correct Answer : D
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19). How molten metal is shielded from the
atmospheric contamination as a blanket in

GTAW? | GATW He TRl UG BRI
UhR fadescia 4T TRf&dadd Sa?

(A) By using inert gas | fafspsa T qroea
(B) By using fuel gas | SYF 1 A1
(C) By using supportable gas | i 1Y aroA

(D) By using fuel and supportable gas | S STIOT T
T 9192

Correct Answer : A

20). Which process can be easily weld thin metal?
| UichdT TgoTU0! UTdies YT des, el Ol
?

(A) MIG welding | MIG afegT
(B) Tungsten arc welding | ¢TReA 3 afed
(C) Submerged arc welding | SaHwS 3T dfcaT

(D) Manual metal arcwelding | J-\IJrg&IFT Ted 3 dfeaT

Correct Answer : B

Contact - 9370948482, 8055403224, 9325721873
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21). What type of power source are used in

SMAW welding? | SMAW dfcgTHed Sl

JhRAT 3ol TAld aTuRal SITdl?

(A) Constant current | RR #c
(B) Constant voltage | R FBleeo
(C) Constant resistance | RRR I

(D) Constant frequency | IR GRART

Correct Answer : A

22). What.is the angle of electrode tip by setting

DCEN for.SS welding by TIG welding process? |
TIG dfeST UlshdgR ssg%mm‘? DCEN 3¢ Fo-1

SAGEIS Il B BRI 357

(A) 50°
(B) 40°
(C) 45°

(D) 60°

Correct Answer : D



javascript:void(0)
javascript:void(0)

Page 63

23). Which type of tungsten electrode is suitable
for welding of SS by TIG process with DC? | TIG
AfcE e DC Fid SS o AT HIUTTST EFIWW
CTRCH SAdgie ANy 3HTg?

(A) Pure tungsten electrode | Y& ¢TReH sc}lohfls
(B) Cerium tungsten electrode | RR1GH dReA Saagis
(C) Thoriated tungsten electrode | %ﬁﬁ"!é@' [RIESC 3%3@3’

(D) Zirconium tungsten electrode | RPINTH SReH SdaeIS

Correct Answer : C

24). Which welding machine uses TIG welding

rocess for weldin gluminium? 3{:::::3
SW HI0Td 70 TIG
quR?

(A) AC welding machine | AC afcET u=fiq
(B) DC welding machine | DC GIRCHR ]
(C) AC & DC transformer | AC & DC THBIHI

(D) DC transformer | DC E\'IT\‘:IU'T\IJTTT

Correct Answer : A

25). What is the name of the defect marked as ‘x’

shown in the figure? | 3THAIHE ‘x’ U
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(A) Porosity|d|€vllilé|
(B) Under cut | 38X &c
(C) Slag inclusion | &7 SaoTT

(D) Incomplete penetration | argcfaﬁasm

Correct Answer : D
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NIMI Mock Test

1). What is the name ofggart marked as ‘X’ shown
in the figure? | X'
q1d B 3ATR?

®

:|:—® @ KA

N T Y W

® J08

(A) Nozzle | FIvTd
(B) Outer gasket | 3% 6y

(© EIectrode|€@IﬂEff3
(D) Resistor|§ﬁ|€?

Correct Answer : A

2). Which welding process is done by a chemical
reaction between a metal oxide and a metal? |
Hed SHadTss S Hed JiArdid JI9™-d
S{THThUGR HIUTA afeST UfshaT befl STai?

(A) Electro slag welding | Eﬁiﬁjﬁﬂa%@'[

(B) Election beam welding | Said¢i- o1H afedT

(C) Thermit welding | yHe T
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(D) TIG welding | TIG afeg

Correct Answer : C

3). Which gas is generally used in gas laser type
welding? | TR WioR afedTHed D10l arge diuR
HTHIAC: el Sildl?

(A) Carbon - di - oxide | PHTa9 S Gﬁm

(B) Neon gas | IERIERIC

(C) Argon gas | SRATA 1

(D) Oxygen | HifoRTai

Correct Answer ; A

4). What is the advantage of laser beam welding?
| TR & ST BIael $1d 3e?

(A) High capital | ST HiSdd

(B) Skilled operation | HRI SRR

(C) Higher operating cost | 3= STRfeT

(D) Deep narrow weld | o 3% acs

Correct Answer : D

5). What is the name of the part marked ‘X’
shown in the figure? | & gRifaaiedn X’
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(A) Nozzle | :nglﬁ

(B) Plasma | WITgHT
(C) Swirl ring |f@|ﬂﬁﬁﬂ

(D) Electrode | 3@3@’5’

Correct Answer : B

6). What is the name of the part marked as
‘X'shown in the figure? | &Wﬂﬂ?ﬁ aRifdcied X’
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(A) Laser beam | aR 9
(B) Ruby rod | Tal XS
(C) Cooling system | Wﬁ'@ﬂ

(D) Flash lamp | TRl T

Correct Answer : A

7). Which gas is suitable for welding of carbon
steel and titanium by plasma arc welding
process? | WITHT 3l %‘f(’la"’[ CILUGKICR]

GRS NEE I URABIAR S a%ﬂmmﬁ?ﬂw

3{Tg?
(A) Helium | gferad

(B) CO;

(C) Argon | SRATT
(D) Neon | T

-------- Correct ANSWEE =€ - - - - - - == - - s s oo s s oo oo e e s e mmm--m - - ---- -
Contact - 9370948482, 8055403224, 9325721873
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8). What is the name ofﬂ?art marked as ‘X' shown

ceifaarean 'x' femgiferd

(A) Nozzle | EIS ]
(B) Outer gasket | 3THcX TqHy

(C) Electrode | OIS
(D) Resistor|§ﬁ|€?

Correct Answer : C

9). What crystal (rod) is used in_laser beam

weldin%'.;% H dfcETH e HIvrd! fhied R19)
CICEGIRSIRE

(A) Iron | Mg+
(B) Ruby | Sdl
© Copper|ﬁﬂ?
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(D) Stainless steel | LA ©d

Correct Answer : B

10). Which material i |s used to make electrode in

spot welding? | Wie afedm™ smcrcls ddR
eg’rtrﬁﬁﬂmﬁarqwﬂaﬁv

(A) Iron electrode | &H'qusﬁ?@g

(B) Copper alloy electrodes | PIUR ATAT Sﬁﬂ@g
(C) Silicon electrodes | ﬁ-ﬂ%ﬁqg@a@ﬁ—s’

(D) Castiron electrodes | T WE@H@S’

Correct Answer: B

11). Which is a resistance welding method? |

& dfceT] dGd DI 3HTe?

(A) Spot welding | wWie afesT
(B) Forge welding | Hiol dfea
(C) Thermit welding | y¥e afceT

(D) Explosive welding | faTpice afeeT

Correct Answer : A
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12). What material the plasma arc cutting nozzle
is made up of? | WITSHT 3T BT ASTd DIl

(A) Aluminium | 3oeglfAay
(B) Platinum | @iicH

(© Zirconiuml%ﬂﬂﬁﬁfaﬁr
(D) Stainless steel|1%7lﬁﬂ“\€°|ﬁ

Correct Answer : C

13). Which electrode is movable in spot welding?
| Tic AfeSTHe PIvdl SAdcIS AT 3Ma?

(A) Both moved | @I gaidal
(B) Both not moved | 2! gafdal -Tel

(C) Upper electrode | 3R 3AdE IS
(D) Lower electrode | TI3R ScidIS

Correct Answer : C

14). What is the name of part marked as ‘X'shown

in the figure? | &W X' fargifed
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(A) Aircylinder | T3R IBEER
(B) Pivot point | fUsgic uise
(C) Rocker arm | Db e

(D) Electrode | 3@3@3

Correct Answer : C

15). Which light can be used in laser beam

welding? ! R dlH afeSTHE DIvrdl dge aruRdl
ol ?

(A) Sunlight | TdU&TT

(B) Infrared light | 3P RS U

(C) Ultra violet light | 37cgT BRI HehTRI

(D) Mono chromatic light | I PIATeD TBTA

Correct Answer : D

Contact - 9370948482, 8055403224, 9325721873
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16). Which process cuts the stainless steel, carbon
steel with the help of high jet velocity? | Bt_z[@'d

T BT UfchaT WA W Id, dHIa- & et
FHTquft HI?

(A) Plasma arc process | WITSHT 3T gfspar
(B) TIG
(©) MiIG

(D) SMAW

Correct Answer : A

17). Which electrode i is used in Ia§ma arc
welding? | WITSTHT 3T dfcs THE DIVl SAaCIS
TRl SIIdi?

(A) Castiron | PR 3T

(B) Mild steel | 917G Wi

(C) Tungsten | &TReH

(D) Stainless steel H%:lﬁﬂlﬁﬁ

Correct Answer : C
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18). Which resistance welding machine is
provided with an electrode in wheel shape? | G|
JTHRIT SAdE IS DIV UfdhReb dfes

AR hell 3HT5?

(A) Spot welding |¥CI=IJ?.'3'%€‘T
(B) Seam welding |¥ﬂ'ﬁra1=c€'ﬂ

(C) Projection welding | OrolaR afes]

(D) Flash butt welding | Tei%T ¢ dfeaTl

Correct Answer : B

19). Which gas is suitable for welding of stainless
steel, nickel alloys by plasma arc welding? |
dfeSTgR Tad Wi, R d Higd

T AT
TSRS YU 31Tg?

(A) Argon | SR
(B) Helium | 8fcrad

(C) Hydrogen | FTAGISH
(D) Neon | AT

Correct Answer : C

20). What is the name of part marked as ‘X’

shown in the figure? | &Wﬁﬁ@ﬁ%@w X
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(A) Laser beam | AR dH
(B) Ruby rod | &1 1S
(C) Cooling system | HiciT RiRkeH

(D) Flash lamp | BRI A9

Correct Answer : B
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NIMI Mock Test

1). Which material is used in orthopaedics? |
SO SFEHE HIUTC FHUT ITORE! SiTd?

(A) Plastic | @TRCH

(B) Polyethylene|tl\ﬁ%‘lﬁlFﬂ7-[

© Polypropyleneltﬁ?ﬂm

(D) Polyvinyl chloride | BTciiaI3d dFARES

Correct Answer : C

2). What is metallizing? | AT FUS B2

(A) Cutting the metal | YT PTYA
(B) Hardening the metal | ?ﬂﬁ'\mm

(C) Surface finishing | ST quf HR0!
(D) Coating metal on the surface | g8 HITAR YTl g

Correct Answer : D

3). Which one is more durable than paints? |

UcU&T HIvrar e fehras 3ie?

(A) Cleaning | ¥-d&ddl

(B) Varnishingla'lﬁ&i'ﬂ

(C) Water spraying |tITUﬁU'>_O|TTUﬂ
(D) Powder coating | Uas dv

Correct Answer : D

Contact - 9370948482, 8055403224, 9325721873
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4). What is the name of the process is shown in

gﬁ%figure? | STHdH RifdcedT Uit A1d B
?

(A) Hard facing | & I0T IR

(B) Metallizing | HcamafsiT

(C) Rod flame spraying | IS TH HaRufl

(D) Powder flame spraying | UTdSX W HaRui

Correct Answer : D

5). What is the code number given for pressure
vessel manufacturing, exclusively for steel and

steel alloy? | URR % GIR HRUGNIS! fa=Iv:
Rﬂa&méﬂﬁrm (Gl DIs hHID B

31Tg?

(A) P1to P11

(B) P21to P30
(C) P31to P35

(D) P43 to P47

Correct Answer : A
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6). Which certification verifies the properties of
weld to withstand the service conditions? |
THIUTGA HaT STl QAT HRUGS] deg <l
TureH T USaresult #Rd?

(A) Weld procedure specification | 33 Hfehar queiia
(B) Welder performance qualification | &R HHENRT UEdl

(C) Welding procedure qualification | CIGSU R E R EIRIED]
(D) Welding procedure specification | dfceT ufchar ausita

Correct Answer : C

7). Which format is used\trcl_record the results of
welding qualiﬁca:cioq? BISH RIEG]L
P |Uld WiRHC dIURA Gﬂ?f?

(A) Procedure Qualification Record (PQR)
(B) Welder Procedure Specification (WPS)
(C) Welding Procedure Qualification (WPQ)

(D) Welder Performance Qualification (WPQ)

Correct Answer : A

8). What is the main aim of welding procedure
qualification, in a test to ascertain? |

Irauiaed afcd T Ufshar umar Yoy S22 &1 387

(A) Properties of weld withstand and designed conditions

| de=d TurerH 3nfor fegms dawn oY

EB) Performs of weld witbstand designed conditions | %_EEI'I%_F[
HHAl P S hrdl

(C). Perfect of weld withstand all condition | Jesdt giefRydt
Id uRfydtar dis ¢d

(D) Power of weld | CIEEIRIERI]

Contact - 9370948482, 8055403224, 9325721873
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Correct Answer : A

9). Which certification is given to verify the
welder’s ability? |

PHIUId THTOS &l Srd?

(A) Weld procedure specification | R ERIGERIG

(B) Welder performance qualification | AT HERRT
LIEGI

(C) Welding procedure qualification | CISSURIERCIRCIER]
(D) Welding procedure specification | afeST ufehar qu=ita

Correct Answer : B

10). What is the name of the tool shown in

gﬁ-lgr"e? |- Spaged gRifdeied ATE=T 1d B
?

(A) Plasma cutting nozzle | WITZHI I AroTd
(B) Powder coating kit | UTdSY HIfeT fbe
%‘%f Oxy - Acetylene cutting torch | T - Tifees BidT

(D) Plastic welding air gun | Wie® dAfceT TSR T

Correct Answer : D

Contact - 9370948482, 8055403224, 9325721873
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11). What is the name of the process shown in the

g%ueuweﬁ@fﬁéwmﬁmm
?

(A) Welding process | afeET ufdsan
(B) Cutting process | T HichdT
(C) Hard facing process | P o107 BiRiT Ufhan

(D) Metallization process | ﬁmm

Correct Answer : D

12). What is the name of the part marked ‘X"

shown in figure? | ATHAHY GRITT ‘X’
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(A) Gun |TH

(B) Oxygen | JATeRIS

(C) Fuel gas|SYT dT

(D) Gas flow meter | T Tl Hicx

Correct Answer : A

13). Which process improves the resistance of

material? | STERITN YIRS~ YURUITST hIUT!
UfchaT TRl STTdl?

(A) Hard facing | &ol0ur BT

(B) Machining | TR

(C) Metallizing | Ae@@TafRiTT

(D) Surface finishing | JSHTT YU 00

Correct Answer : C

14). What is the expanded form of PQR? | POR
faRaTRd B IH BT 3MTg?

(A) Procedure Qualification Read
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(B) Procedure Qualification Response

(C) Procedure Quality Record

(D) Procedure Qualification Record

Correct Answer : D

15). What is the process to paint with particles by
electro static charging? | sé)aejwi%w TG
HUMEE Ue Sfep BIvh 3Me?

(A) Metal | ¥Iq

(B) Powder coating | TdSY DifeT
(C) Electro plating | %@fﬁfﬂﬁﬁ"{
(D) Thermal spraying | i T

Correct Answer : B

16). What is the full form of 1SO? | 1SO @ Ul 4
DI 3T8?

(A) Indian Sailors Organisation
(B) Indian Student Organisation
(C) Indian Security Organisation

(D) International Standard Organisation

Correct Answer : D

17). What is the expanded form of WPS? | WPS
BT 3157
(A) Welding Procedure Speed

(B) Welding Procedure Separation

........ (C)- Welding-Procedure Specification- - - - - - - ... .. __...
Contact - 9370948482, 8055403224, 9325721873
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(D) Welding Procedure Standards

Correct Answer : C

18). What is the grouping P-code number for
welding covered under copper and copper-based

alloys? | SIEEINGIEEICIRGREE
sq&n%ﬁwé’mgq HRUGE] P -D[S ok B
?

(A) P1toPM

(B) P21to P30
(C) P31 to P35

(D) P43 to P47

Correct Answer : C

19). What is the wear caused by liquids or gases
striking metal parts at high spee

?
YT HRTIAR Godl HRUR Sd dé'rlqﬂgg HIN
DY 3Te?
(A) Corrosion | BRI
(B) Rust | ST
(C) Friction | ST
(D) Erosion | et

Correct Answer : D

20). What is the name of the part marked 'X’

shown in the figure? | &W@W X'
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(A) Source | T

(B) Vacuum | %Va?:l}[
(C) Base plate | 9 We

(D) Evaporated material | STHIT Tl

Correct Answer : C
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NIMI Mock Test Result

1). How the gas _cylinders are kept in workshop? | JHITY TH 7T
SIGIG K

(A) Lie - down position | TS - e (=Yt

(B) Vertical position | 3/Jad Rt

(C) Inclined position | 3hdllg=s Ul

(D) Support the other cylinder | ¢34l Rci S STe =i

Correct Answer : B

User Answer : C

2). Why should a welder uniform be free of oil or grease while
welding? | AfeET ST deSar VAT od foar Yo Bl
SHIdI?

(A) To protect the job | STTad &UT HRUGRIIS]

(B) To reflect the arcrays | 3iieh {301 TRIgfid HRUTRITS]

(C) To avoid catching of fire | 3T UHSUI TBUATHTS!

(D) To protect the welding machine | AfcETT AR W& HRUGATS!

Correct Answer : C

User Answer : B

3). Which _part of the hammer fits into the handle for it’s rigidity? |
TAT HSRYVMTST §HYAT BV YN §S AR THAI?
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(

~

(A) Face|W
(B) Pein | Ul
(C) Cheek |fa®
(D) Wedge | a%

Correct Answer : D

User Answer : B -
Report

4). Which part of the body is affected by Ultraviolet rays?

sl?;:lanﬂgz fpRuNige IRRT=AT HIvr@r YrTaR afkomd ﬁ?h?

(A) Lungs | PUWPpd
(B) Eyes | 5
(C) Face | 9&X1

(D) Skin | @@=

Correct Answer : B

User Answer : B

5). What is the name of the weld reinforcement that is resting on the
________ base metal? | IH HETIT SITA SAATIT IS ATIIPRUME, AT

Contact - 9370948482, 8055403224, 9325721873
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S 3Te?

(A) Butt weld | 9¢ 9%
(B) Fillet weld | fihcle a8
(C) Toe line | 19 @3
(D) Toe ofweldlaﬁa?

Correct Answer : A

User Answer : B

d%?)a_iruch tool is to be used to remove slag on welded bead? | C [
SUDBRUT AUl SIfdr?

(A) Punch | T=

(B) Try square | < W3R

(C) Chipping hammer|ﬁlﬁ11§'¥|?

(D) ' Ball'pane hammer | §ic UF 8HR

Correct Answer : C

User Answer : B

7). What is the full form of OAW? | OAW d JUf &0 ST 3iTg?

(A) Oxy - Acetylene Welding
(B) Oxy - Acetylene Coal Welding
(C) Oxy - Air Acetylene Welding

(D) Oxy - Acetylene hydrogen Welding

Correct Answer : A

User Answer : B

8). Which operation is to remove burrs from a plate after cutting? |

________ . PR RCHYT IR PIEUITHIST DIUd HTRTEMR2 ...

Contact - 9370948482, 8055403224, 9325721873
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(A) Brushing|§|ﬁi"T
(B) Filing | wAfeiT
(C) Scraping|ﬁ°‘fﬁ'ﬂ
(D) Chiselling | ferafeiT

Correct Answer : B

User Answer : B

9). Which welding process is used for thicker plates? | ¢lTS
w)]mm"r DIV AfST UfshaT aTuRel Sd?

(A) Shielded metal arc welding | 2T Hed 3T afcET
(B) Manual metal arc welding | H-g3{d Hd 3id dfca T

>

(C) Sub-Merged arc welding | STaTAY 3T afesT

(D) 'Atomic.hydrogen welding | &FUJ\SM\'i\I\rH afce

Correct Answer : C

User Answer : C

10). Which tool is used for handling hot metals? | TIRH YT
DIV g ATIRA ATd?

(A) Tongs |ﬁ11

(B) Shawel | ]id

(C) Poker | GIdx

(D) Snips | &

Correct Answer : A

User Answer : C

11). Which file has it’s width parallel through out it’s length? |


javascript:void(0)
javascript:void(0)
javascript:void(0)

. . . Page 89
BT BTSd] didl ATAT $SIgdd! JHIAR 38?2
(A) Flat file | Teic BIsd
(B) Hand file | 8 WIgd
(C) Rasp file | I Wl
(D) Curved file | 9% BTsd

Correct Answer : B

User Answer : C

12). Which safety device is used to protect face from uitra-violet
rays while welding? | afeST HATT reg- W%r
TY&UT HRUARITS! DIUTT RIadT fSRIgdT aTuR Bl Silelt?

(A) Apron | €T

(B) Plain goggles | INERIRI]

(C) Hand shield | €5 e

(D) Flash back arrestor | TRI A 3RICX

Correct Answer : C

User Answer : C

13). What action should be taken during cylinder leakage? | fafds:
PTY HRATS HIA1?

(A) Move to a safe area | '\‘:R'f&l?r fe®1oft =
(B) Move to near working area | Sq@ A BT Sff

(C) Move to near main bar | SIded =l H¥H dRdX W]

(D) Move to near welding machine | dfcg?1 AR STde gadl

Correct Answer : A

User Answer : C
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14). What happened if bench vice is over tightened? | a%r%ré'a
WIRd e &dl TR P gIga?

(A) Jaw damaged | Siid THHH
(B) Spindle damaged | (i@ W9 giga
(C) Work bench damaged | CEAEERCRE] Eﬁéﬁ

(D) Handle damaged | ésma RERIG!

Correct Answer : B

User Answer : B

15). Which is to wear for safety while handling thin sheets? | Uldc
UA% ISl JRISAATTS] DA HUS UTARI 3Tg?

(A) Tongs | ezt

(B) Clamp | dai{

(C) Hand gloves | g?; gloves

(D) 'Hand screen | &€ &b

Correct Answer : C

User Answer : B

16). What is the use of welding torch in OAW? | OAW Ael dfedT
SIeaT TN ST 318 ?

(A) Mixing the gases | g 0T HI01
(B) Separate the gases | a’rqaﬂésw

(C) Flow of waste gases | CIPI\$ dli—j\dl Udlg

(D) Return the gas flow | 71 UaTg IRd &I

Correct Answer : A

User Answer : B

Contact - 9370948482, 8055403224, 9325721873
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17). Which injury is common in gas welding? | 779 dfc&THed @Tdita
WU AT 3182

(A) Electric shock | IEEEIRES
(B) Burns due to flame | W’I?ITE[%EF\‘-'f

(C) Bleeding due to cut injury | ¢ GETUd ST YIwd

(D) Injury by hot flying particles | TRH 3SUIT HUNGR gdud

Correct Answer : B

User Answer : B

18). What.is the first aid treatment shown in the figure? | &n?cﬂmﬁ
gradele WYHS ITTR HI0Td 3ATed?

(A) Eye injury | SI&T g@Tdd
(B) Electric burns|$ﬁ@$§7\‘f

(C) Electric shock | fasiaT et
(D) Severe bleeding | did YddwdTd

Correct Answer : C

User Answer : B
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19). What action takes for severe bleeding? | GIEEEGRGIE AT
ﬂﬁ'U'R‘ﬁ forar oeft wrd 2

(A) Sleep and rest | 31T 30T fasfict
(B) Apply pressure on the wound | SEHAR ST T

(C) Covered a wound tightly | SIgH YUg ATh ol

(D) Rolled - up news paper | JSI@adl U

Correct Answer : B

User Answer : D

20). What.is the name of the clamp shown in the figure?? |
1d $19 318 ?

Ce

h-\"
=
o]
el

(G

(A) C-Clamp | C-&1H

(B) U -Clamp | U - &I

(C) Screw clamp | @H@I’Tq

(D) Jig and fixture | TSI 3{1fOT fthereR

Correct Answer : A

User Answer : A
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NIMI Mock Test

1). How many segments are to be selected for
welding 50 mm j pipe? | 50 ot ) argy

fobcll YITHE TS SITdTd?

(A) 3 segments | 3 faumT

(B) 4 segments | 4 faum

(C) 6 segments | 6 fAURT

(D) 8 segments |8 fqumT

Correct Answer : B

2). What type of edge preparation is needed, for
as welding a pipe, with wall thickness 6mm? |

Yl STt 6 mm SRIER 719 dfeed]
PIUAT UYb R foh-Tar daR! aRIE 38?2

(A) Single “v” | RiwTat "v”
(B) Single bevel | BUGKEEH
(C) Square edge with root gap | §& 3R AT IRY fHIR

(D) Square edge without root gap | ¢ 3R 7 W3R TS

Correct Answer : A
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3). What is the purpose of copper coating on
mild steel filler rod? | ATt idl ftheR SR
TSI DIl SE-T DY 3MTg?

(A) Rust proof | ST AYH

(B) Water proof | STaRIU®

(C) Moisture proof | SRICIREY

(D) Increased filler dia | TGcidll fheR dia

Correct Answer : A

4). What is the angle of pipe axis with the base
for making an elbow joint? |

g UISY 31&] BT 377g?

(A) 30°
(B) 45°
(C) 75°

(D) 90°

Correct Answer : D

5). What is the base for selecting the nozzle size
for gas welding of a pipe? | S| T RIE

T 3TDHR ﬁT:l_ETU’CIWI'og S{TYR BT 3MTg?

(A) Groove angle | Q\O_G'Hﬁ-_-f

(B) Welding position |aTclsﬁT@I?ﬂ

(C) Diameter of pipe | CIEREC3I b
(D) Pipe wall thickness | q'l'&"qiﬁ\_rl'lﬁ

Correct Answer : D
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6). What is name of the manifold system, if 3 or
more cylinder are coupled together? | SR 3 fopar

ATUET S Rfeier U Td W HABIS
R 919 BT 311g?

(A) Portable | Uicad

(B) Series | HIfcTan

(C) Multiple | 3H®

(D) Stationary | RRR

Correct Answer : D

7). What is the name of therpart marke\d as ‘X'
shown in the figure? | 3o IHed qRITTT X'
FIgifdhd Baled] HRTR AT1d 1T 3HTe?

X - = =

1232101232110
PATTERN

(A) Waste part | PRI HIT
(B) Cutting part | ST UFT
(C) Removing part | 4T &g clahd 38

(D). Allowance for locked grooved joint | FIUdG TS
HT

Correct Answer : D
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8). What are the available standard electrode
length used in SMAW? | SMAW T& U
w%msﬁaaﬁﬁaﬁramwﬁ?

(A) 250 mm and 350 mm
(B) 350 mm and 450 mm
(©) 400 mm and 500 mm

(D) 500 mm and 600 mm

Correct Answer : B

9). Which size of filler rod should be used to weld
2mm thick MS sheet? | 2 mm Jl§ MS RiI[d
NSUETA! ftheR ST HI0TdT STHR. JTURE] SITAT?

(A) 1.6 mm
(B) 2.0 mm
(©) 2.5 mm

(D) 3.15 mm

Correct Answer : A

10). What does the fourth digit indicate as per
AWS electrode codlng'? | AWS smws chllsil-j{-lli
Y b B

(A) Welding current | CIRSURCIE

(B) Tensile strength | GINIRERIEIRIESI]

(C) Welding position |3’%"T1¢@Rﬁ

(D) Type of flux coating | eTad P IR
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Correct Answer : D

11). Which metal are used to make welding
machine earth clamp? | afegT 7=iF orf Ferg
SIAUGTTAST 10T YT aTuRdTa?

(A) Iron | g
(B) Brass|fel?|30"
(C) Aluminium | 3= gHTH

(D) Copper alloy | PR ‘E-I'I?L% frgor

Correct Answer : D

12). How do draw a curve in development

drawing? | saudc ?;I%"Iﬁ@ dsh D Blerdd?

(A) Compass | U
(B) Free hand | W1 8S
(© Templatelé'-ECI@I"cr
(D) Stencil | &fRa

Correct Answer : B

13). What is the name of the joint shown in the
figure? | ATHATHE GRIdcIed] Sliged A1d B 3Te?
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(A) Y joint|Y Glige

(B) Tee joint| <l Sigc

(C) Butt joint | € Slisc
(D) Elbow joint | Uedll Sl

Correct Answer : A

14). What is the number of nozzle suitable for
welding 50mm dia pipe, with 3.15mm wall
thickness? | 3.15mm f¥di=l SISt sfaaiedn 50 ot
LIy ' Y RIS AlSTera TRe
fodl 3M1g?

(A) 5
(B) 7
(© 10

(D) 13

Correct Answer : B

15). Which device is used to divide equal parts?

THME HRT fAUTITd HROTTTST B0 IUDHRUT
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SIGK
(A) Scale|@m
(B) Scriber | PR
(C) Compass | ST

(D) Trysquare | CIT WIR

Correct Answer : C

16). What is the name of the joint shown'in the
figure? | 3PAHE GRIfATHT Sliscd A1d BT 3ATG?

(A) Pipe butt joint | U130 §¢ Sigc

(B) Pipe Tee joint | mécre%ﬁs‘d

(C) Pipe flange joint | méquﬁ\—rr\—rﬁs?
(D) Pipe composite joint | uﬁqﬂgmﬁsz

Correct Answer : C

17). What is the name of the development
drawing shown in the figure? |
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SR SEAUHE SIS A1d BT 3Tg?

A —= M3 aa +u N N

12 1 2.3 4 8 &6 7 8 9 10 11 12

(A) Y joint]Y Siisc

(B) 90° Tee joint | 90° T Gilec

(C) 90°.Elbow joint | 90° TeH! Slgc
(D) 45° Branch joint | 45° 9 Siige

Correct Answer : C

18). What is the welding position as per ASME for

a pipe joint held vertically? | ASME IR UTU=]

Siigcel 317 RYcld STuarrd! AfeS Tl fRuch B
?

(A) 1G
(B) 2G
(C) 5G

(D) 6G

Correct Answer : B
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19). What do you call the non - coated
electrodes? | a9 HIcS sdeISH YU h1g?

(A) Raw electrode | d=Il 3@3@3

(B) Bare electrode | F3R 3@3@3

(C) Base electrode | a9 3@3‘@’5’

(D) Deep penetration electrode | @ﬂuﬁﬁamsﬁaej@;

Correct Answer : B

20). Which type of fixed ]%F&e posmon is inclined

at 45°? | CA IR EARES) fRUat 45° R
?

O

(A) 1G
(B) 2G
(C) 5G

(D) 6G

Correct Answer : D

21). What is the name of the Jomt shown in the

figure? | P GRITIAT Sigcd A1d BRI 3g?
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(A) Tee|Tt
(B) Butt|§<T
(C) Elbow | Tedl
(D) Branch | ®ic

Correct-Answer : C

22). Which filler rod is used for bronze welding
of cast iron, malleable iron and copper? | ¥

ASUARY Al ATl did B S T3]
P IUTT RIS ST TR Bl SHTa?

(A) Manganese, Bronze, filler rod | TS, i, WR1E S

(B) Copper, Phosphorus, filler rod | OYJTLJQ, LP\IJH\N{-I, PR IS

(C) Copper, Phosphorus alloy filler rod | PIIR, HIERY Fy
YTl HRII s

D) Copper, Zinc, Nickel filler rod | IR, foiw, v
1S

Correct Answer : D

23). What is name of the development drawing

shown in the figure? | &W
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Y e

SEAUHC QIgi Td BTy 3MT?

0
1
24

3 21 01 2 3

s
RN

01 234586 5432 10

(A) Yjoint|Y SiiSc

(B) Tee joint | <l Sigc

(C) Elbow joint | w Gﬁ%_cr
(D) Branch joint | CE| Sige

Correct Answer : D

24). What is the name of the system, if two or
three cylinders are coupled with suitable device?

| &IF fdbar i fifeiex SUBRUTIG SIS
uvn?ﬂ%r:lwmern%?

(A) Portable manifold | nNdad AfNwIcs
(B) Stationary manifold | RR AR®IE
(C) Multiple manifold | 3® AHmIcS

(D) Series manifold | SIS CAREIE LA G

Correct Answer : A
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25). Which type of filleg rod shall contain higher
percentage of iron? | S0 YhR™ [heRR XS ¢l
SR UHTUTC 3RIeT?

(A) Ferrous | ™
(B) Non - ferrous | GIGR T

(C) Alloy type of ferrous metals | GE] YTl UPpR Y YT,

ED) Alloy type of non - ferrous metals | oy YTl U IR -
U,

Correct Answer : A
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1). What is the represent vertical position of
groove welding? | 8 dfes =il I (Ul w1

?
(A) 1G
(B) 2G
© 3G

(D) 6G

Correct Answer : C

2). What is the use of calcium carbide? | DHIeRIIH
hIg?

(A) Produces acetylene gas | 3 Ryfedi= qig dar IO
(B) Produces oxygen gas | HWGTQWW

(C) Produces nitrogen gas | -Iltlg\lwl-l ary d4iR B0l

(D) Produces hydrogen gas | EIEIS-IG:I MWW

Correct Answer : A

3). Which gas supports to combustion of fuels? |
SYHTAT ST DIUTdT I, YR Sdl?

(A) Oxygen | Sfforger
(B) Acetylene | VQl@HEaH
(C) Hydrogen |_5!TCI@\_:F[

(D) Carbon di oxide | HTa- 819 JHHZS

Correct Answer : A

Contact - 9370948482, 8055403224, 9325721873
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4). Which material is used to make_ rec:cifie(
supporting plate? | X[GCHIIR U & HIvc]
?

(A) Copper|?|'ia
(B) Mild steel | 990 Id

(C) Aluminium | 3-sgfafaw
(D) Stainless steel | ¥Taid ¥la

Correct Answer : C

5). Which one of the defect is caused by low
current in arc welding? | 3T AfETHY HH T

U BHRIGISIUS! SO QY 3HTa?
(A) Porosity | ORI

(B) Undercut | 38 &

(C) Lack of fusion | & W=

(D) Excessive penetration | Waﬁ%}lﬁ

Correct Answer : C

6). What are the gas flame combination used for

welding ferrous and non ferrous alloys? |
Ty STOT A1 By UiITa] aTuRed eiedl 119
TeiH fHY0T 1Y 387

(A) LPG + Air | TIUISH + TSR

(B) Acetylene + Air | 3=Rifeel + TR

(C) Acetylene + Oxygen | TRIfedN + SiffoRToT
(D) Hydrogen + Oxygen | SISO + SHiTeRToI

Correct Answer : C
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7). What is the name of the pressure system

shown in figure? | &Wsﬁa&fﬁﬁwa—mﬁ
JUITCi A1d BT 357

e B

\

ACETYLENE

YGEN

(A) Low | St
(B) High | 3™
(C) Normal | 9MHTT

(D) Medium | H&EH

Correct Answer : B

8). What is the colour of welding oxygen
cylinder? | afcET 3fifRye Rifcie<=n ¥ &7 3M1g?
(A) Red | drd

(B) Blue | a1

(C) Black | PTeaT

(D) Maroon | ¥4
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Correct Answer : C

9). What is the imaginary line passing length
wise through the centre of the weld? d A
H AT AETIR WWW%TW 3{Tg?

(A) Axis of weld | dTST 37&f
(B) Face of weld | 34T th
(C) Weld slope | 98 3dR

(D) Weld rotation | 43S AcTH

Correct Answer : A

10). What is the name of the distortion
controlling method shown in the figurez |

i@@aﬁ%ﬂwﬁﬁﬁa&w JGdrd A1 BT
?

(A) Root gap | &< 1T
(B) Arclength | 3T et
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(C) Pre bending |Uﬁ$’$@[

(D) Diverging allowance | faeT 4T

Correct Answer : D

11). What is the name of the cylinder shown in

gan%figure? | 3Mpdid qRIded Ricied A1d H1
?

(A) Oxygen | 3fTfaeT

(B) Acetylene | TRfeet=

(C) Argon gas | ermﬁ’anq

(D) Carbon-di-oxide | HTe- S19 FES

Correct Answer : A
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12). Which is the easist welding position? |
dfcSTTen aia ! fYch Piur oig?

(A) Flat | /i

(B) Vertical | Y1

(C) Over head |3-1?>P:I'I?CIT5R

(D) Horizontal | IR

Correct Answer : A

13). What is the full form of CCMS? | CCMS d JUl
=0 DY 387

(A) Copper Coated Mild Steel

(B) Carbon Coated Mild Steel

(C) Calcium Coated Mild Steel

(D) Chromium Coated Mild Steel

Correct Answer : A

14). Which operation uses carbon electrodes? |
Pld ac g V] STIRAHE ITUR STdTd?

(A) Brazing | 83T
(B) Gouging | TRIAT
(C) Soldering | TIeeR
(D) Reaming | RIET

Correct Answer : B

15). What is the colour of acetylene cylinder? |
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TRafeeq Ridsar 3 &1 3M1g8?

(A) Blue | T
(B) Black | HTBT
(C) Yellow | fUdest
(D) Maroon | A%

Correct Answer : D

16). In which method the core wire is dipped in a

flux paste? | ISR AR T UcqL
IELENINSIGH

(A) Dipping |%ﬁ1T

(B) Extrusion | TRISSIT

(C) Elongation | faR

(D) Contraction | H&HT

Correct Answer : A

17). What is the name of the brazing shown in

the figure? | 3P gRIfAAT ST A1d B
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(A) Dip brazing | 80 sifsi

(B) Torch brazing | aﬁ%@m

(C) Furnace brazing | l@aﬁﬂ

(D) Induction brazing IWW

Correct Answer : B

18). What is the special method for safe storage

of acetylene gas cylinder? | Ql@lléal:l g
?r}l%%sw &d HI3aU[d il [dRIY Uegd HIUTl

(A) Stored in gaseous form | dIY ¥G=UId qr&dd
(B) Stored in the solid form | g &g gufed
(C) Stored in semi-liquid form | a{sf-aawcrm gufgd

(D) Stored as dissolved gas in liquid acetone | &9
™ %A

Contact - 9370948482, 8055403224, 9325721873
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Correct Answer : D

19). What is the colour of liquid oxygen? | &d
SRS 3T BT 3HT8?

(A) Pale blue | fbme et

(B) Dark blue | Teq et

(C) Pale yellow | ftherc fUdasl
(D) Dark yellow | T8& fUdeT

Correct Answer : A

20). Which type of welding machine converts AC

to DC supply? | PN UHRd dfest A=AH AC d
DC WA Faald?

(A) Rectifier | fFEHIR

(B) Inverter | 3@_&

(C) Transformer | Mﬁﬁ?

(D) Engine generators | /o SREX

Correct Answer : A

21). Which indicates wrong polarity in DC
welding? | DC g%thﬁhﬂm
P 3HTg?

(A) Electrode become red hot | g@lﬂiﬂg NINRIFEESERIG

fB) Electrode will freeze with the job | 50\10@5 SICKICG|

(C) Excess spatters and poor penetration | Sfafved ez
STFOT WRTF Ui ez

(D) Edge of plates melted off | fade e wied T

Contact - 9370948482, 8055403224, 9325721873
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Correct Answer : C

22). What is the name of the defect marked as ‘X’
shown in the figure? | &W@W X'
fergifrd doie 1 BT 3HTg?

X

(A) Over lap | 3R T

(B) Under cut | 3[8Y B

(C) Porosity | a5

(D) Lack of fusion | /RIS 3HId

Correct Answer : B

23). What is the name of the defect marked as ‘X’
shown in the figure? | &W@W ‘X'
1 BT 3HTg?
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(A) Cracks | N

(B) Porosity | BIEEEG]]
(C) Blow holes | il gla
(D) Burn through | ATEIHTIA SITBUl

Correct Answer : C

24). What is the name of the part marked "X’

shown the in figure? | G{W GRIaAN ‘X'
fergifd 9 1Y 36

(A) Safety valve | gR&T E}I"ﬁ

(B) Outer casing | dTgl 3{TdRUT

(C) Body support | s guie

(D) Oxygen outlet | 3TRIS 33l

Correct Answer : A

25). What is included the angle for a double
bevel butt joint? | S ®II06Q'1 dc \Yll'idd—ll CAEIR
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Wﬂﬂllag ?

(A) 45°

(B) 35°

(C) 60°

(D) 20°

Correct Answer : A

26). What is the defect shown in the figure? |

THATHE DIV aIY GRATaT 3Mg?

D.C. WELDING
POWER SOURCE

JOB -

(A) Arc blow | 3T &t
(B) Over lap | 3fegxerd

(C) Under cut | 3eIhc
(D) Distortion | fgwereH

Correct Answer : A

27). What is the name of the part marked as ‘X’
shown in the figure? | &W‘Eﬁ X' WU
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ACorDXC
X POWER
SOURCE

_/___l.

2
}Ill‘llll‘ll‘llllllll‘l L R

(A) Electrode | SaiaCIS

(B) Arc length | GILESIC]

(C) Parent metal | H5 YT

(D) Metal transfer | T XIIARUT

Correct Answer : B

28). Which is the hottest point in a oxyacetylene

flame? | STRTERIET=AT SATAHL Fdld I Ui
DIV 3HTG?

(A) Outer cone | 3[HcX Cak

(B) Outer envelope | 3T$HX gAY
(C) Inner envelope | TR g6 U

(D) Inner cone | TR o

Correct Answer : D

29). What is the angle of filler rod, by rightward
welding? | ST SIS dfeS g ftheR g HiA



javascript:void(0)
javascript:void(0)

Page 118
IaSEn \31|%?
(A) 30°-40°
(B) 40°-50°
(C) 50°-60°

(D) 60°-70°

Correct Answer : A

30). In which welding technique, the welding
starts at the right hand edge and moves towards
the left? | HIUIT dfes T dATd, i IoTadT gTar

HISTIEA G Bl SN SHHS T2

(A) Leftward | STdIHsS
(B) Rightward | RS CIEE
(C) Backward |IITPf

(D) Up and Downward | a% 3{Tf01 @rare fa=m

Correct Answer : A

31). What is the name of the arc Iength shown in
the figure? | 3TPHcHY GRIfACeT 31 AlEd 14
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1T 3HTa?

(A) Long | did
(B) Short | @8
(©) Normal | §THTT

(D) Medium | H&H

Correct Answer : B

32). What is the use of oxidising flame? |
dIR D1y 357

(A) Suitable for cast iron welding | PIRC ?’ﬁ_s' CIRSURIE]
SUgad

(B) Suitable for brass welding | fide afe€TIdY Suygad
(C) Suitable for mild steel welding |¥ﬁm€ﬁa%%@mﬁaﬁm
ED) _ Suita%e_r;or satellite, pipe welding |E\%Fﬂ%_6’, BIEL
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Correct Answer : B

33). Which type of polarity is used in bare wire

electrode? | 93R IRR FoidcISHY HIUAT UHR!
BIRIREICIEGIREIGF

(A) Straight polarity | 9@ Uleifeel
(B) Reverse polarity | v dirived
(C) AC Transformer | AC E'R“Fﬁﬁ?
(D) Rectifier set |WCFI'CIT

Correct Answer : A

34). What is the angle of electrode in flat
position welding? HCI'IE’ RRydia afeSaa

$Q'10ICISCH GaE

(A) 50°to 70°
(B) 60°to 70°
(C) 70°to 80°

(D) 80°to 90°

Correct Answer : C

35). What procedure is followed to connect gas

regulator to cgllnder in %as welder? | T

ﬁm?ﬁm&laaa?ﬁaﬁ?

(A) Open and close valve for few seconds | CAH K ETAR G
diceg ITST 3101 §g T

(B) Open the valve for a longer period | FEEIRIERIRIG]
dled 3YSI

Contact - 9370948482, 8055403224, 9325721873
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(C) No need to open the valve before connection |
dled IUSUYE! TR ATgt

(D) Open the valve for a few minutes of time | G|
dled 3YST

Correct Answer : A

36). Which type of welding uses a non - ferrous
filler with melting point above 450° than base
metal? | DIV UhRA dfee e Td &l

450° U&fT STRd [ vgran fag sreeian

fheR aTuRl SITa?

(A) Brazing | ST

(B) Soldering | SR

(C) Arc welding | 3T afcaT
(D) Gaswelding | 1% afcg™

Correct Answer : A

37). What is the percentage of calcium in calcium
carbide? | HIeRIT HIITSHE HIeRIH JHUI
fabil 3118?

(A) 0.502|50.2%
(B) 0.573|57.3%
(C) 0.625 | 62.5%

(D) 0.753|75.3%

Correct Answer : C

38). Which Material is used in Manufacturing gas

cylinder? | 1Y ffeisv= FAffdiae S
TRl
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(A) Forged steel | ol Eid

(B) Nickel steel | Hdd &id
(C) Stainless steel | LY Trd
(D) Solid Drawn steel | H’Tﬁl?s’?f%’@ﬁ

Correct Answer : D

39). Which is used to check the leakage of
acetylene regulator connections? |

SIS Uil T dt qUISUaTIo! S arud

?

(A) Salt water | [T TToft

(B) Plain water | &8 TToft

(C) Soap water | STSUITY qToft

(D) Chemical water | I TT0ft

Correct Answer : C

40). What is the t gjpe of distortion shown in the
figure? | 3PpdId JhR HIOTdl
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(A) Wide distortion | a138 fadhdt

(B) Angular distortion |ﬁ'0ﬂ'qﬁﬁ

(C) Transverse distortion | Mﬂﬁ?ﬁﬁ

(D) Longitudinal distortion | @ﬁﬂ%ﬂﬂﬁﬁ

Correct Answer : C

41). What is the name of small metal particles
which are thrown out of the arc during welding? |

QST T 31Teh TeR B 3l g g
DU AT BT 3157

(A) Slag | &

(B) Spatters | TeX

(C) Stub end | ST

(D) Weld metal | 98 Hed
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Correct Answer : B

42). Which arc length produces popping sound? |
TITUT STaTSl SHIOTAT 37Teh o {es daR 8l

(A) Long arc length | QAT 3T

(B) Short arc length | T 3MTH

(C) Normal arc length | H&H 3T

(D) Too long arc length | SR @I 3T

Correct Answer : B

43). What is the colour of calcium carbide? |

HIRTH Plag ST I B 35?

(A) Dark-Red | T8¢ - &l
(B) Dark - Grey | T8¢ - Jr@TS!
(C) Dark - Blue | T€¢ - e
(D) Dark - Yellow | TSg - fUdeal

Correct Answer : B

44). What is the angle of blowpipe in leftward

?ﬂ%mlque? | STAT SIS=UT dATd ®(‘1ILII$HT-H B B
?

(A) 30°-40°
(B) 50°-60°
(C) 60°-70°
(D) 80°-90°

Correct Answer : C
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45). Which welding defects have pin holes
formed on the sunface? | CAUR] 5|@‘I E{W]H%

gYHITIR U fede TR Bldrd?

(A) Spatter|ﬁ€?

(B) Porosity | Tfdsdr

(C) Blow holeslﬁatﬂ?ﬁf

(D) Burn through | ATSIHTG S0l

Correct Answer : B

46). What.is the purpose of wrapping the weld
cable around the job in welding? | SIS =T
dces el {slcoUdid] oY S(j\m?

(A) To control arc blow | 3 st FFafaa srvaraTal
(B) To control arc speed | 31 Wits Fafa sruarel
(C) To control arc length | 3T A= I wRUgETS!
(D) To control distortion | fewee g srvame

Correct Answer : A

47). How to specify the electrode size? |

gAdC ISl 3PR HIl Taiid Hdl Sdl?

A

(A) Diameter of core wire | PR IHRET U™
(B) Diameter of filler rod | ftheR Jear s

(C) Diameter of cable wire | HEd AT AT

(D) Diameter of flux covered | THIHT Udlg sllor)@ml

Correct Answer : A
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48). Which method is used to control back fire
while welding? | AfeET HIAMT 3R HI=0T
SJUITTA! Ugd dIoRdl SiTa?

(A) Close oxygen control valve | e =T SIs U §¢
A

(B) Close acetylene control valve | Sf¥fee g0 geu dq
E

(C)_ First close the oxygen cylinder valve | W4H RlIIENSE]
clSY ASU d¢ b

N
(D) First close the acetylene cylinder valve | UdH Jffeet=

HelSY ISU d¢

D
g

Correct Answer : A

49). What is percentage of oxygen in
atmosphere? | TGRSl GWE%WWW

3MTg?

(A) 0.21
(B) 0.33
(©) 0.45
(D) 0.52

Correct Answer : A

50). What is the cause of hair line separation in

the bead in arc welding? | 3T aee e Siedd
o AIg HcAIdd hRUT h[Y 3‘”%?

(A) Fast cooling | STdlG UE B0

(B) Slow cooling | §BdR 4E I
(C) Long arc length | T 31T T @lalt
(D) Wrong selection of electrode | sﬁa@ggﬁ%ﬁﬁa—s
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NIMI Mock Test

1). How many segments are to be selected for
welding 50 mm j pipe? | 50 ot ) argy

fobcll YITHE TS SITdTd?

(A) 3 segments | 3 faumT

(B) 4 segments | 4 faum

(C) 6 segments | 6 fAURT

(D) 8 segments |8 fqumT

Correct Answer : B

2). What type of edge preparation is needed, for
as welding a pipe, with wall thickness 6mm? |

Yl STt 6 mm SRIER 719 dfeed]
PIUAT UYb R foh-Tar daR! aRIE 38?2

(A) Single “v” | RiwTat "v”
(B) Single bevel | BUGKEEH
(C) Square edge with root gap | §& 3R AT IRY fHIR

(D) Square edge without root gap | ¢ 3R 7 W3R TS

Correct Answer : A
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3). What is the purpose of copper coating on
mild steel filler rod? | ATt idl ftheR SR
TSI DIl SE-T DY 3MTg?

(A) Rust proof | ST AYH

(B) Water proof | STaRIU®

(C) Moisture proof | SRICIREY

(D) Increased filler dia | TGcidll fheR dia

Correct Answer : A

4). What is the angle of pipe axis with the base
for making an elbow joint? |

g UISY 31&] BT 377g?

(A) 30°
(B) 45°
(C) 75°

(D) 90°

Correct Answer : D

5). What is the base for selecting the nozzle size
for gas welding of a pipe? | S| T RIE

T 3TDHR ﬁT:l_ETU’CIWI'og S{TYR BT 3MTg?

(A) Groove angle | Q\O_G'Hﬁ-_-f

(B) Welding position |aTclsﬁT@I?ﬂ

(C) Diameter of pipe | CIEREC3I b
(D) Pipe wall thickness | q'l'&"qiﬁ\_rl'lﬁ

Correct Answer : D
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6). What is name of the manifold system, if 3 or
more cylinder are coupled together? | SR 3 fopar

ATUET S Rfeier U Td W HABIS
R 919 BT 311g?

(A) Portable | Uicad

(B) Series | HIfcTan

(C) Multiple | 3H®

(D) Stationary | RRR

Correct Answer : D

7). What is the name of therpart marke\d as ‘X'
shown in the figure? | 3o IHed qRITTT X'
FIgifdhd Baled] HRTR AT1d 1T 3HTe?

X - = =

1232101232110
PATTERN

(A) Waste part | PRI HIT
(B) Cutting part | ST UFT
(C) Removing part | 4T &g clahd 38

(D). Allowance for locked grooved joint | FIUdG TS
HT

Correct Answer : D
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8). What are the available standard electrode
length used in SMAW? | SMAW T& U
w%msﬁaaﬁﬁaﬁramwﬁ?

(A) 250 mm and 350 mm
(B) 350 mm and 450 mm
(©) 400 mm and 500 mm

(D) 500 mm and 600 mm

Correct Answer : B

9). Which size of filler rod should be used to weld
2mm thick MS sheet? | 2 mm Jl§ MS RiI[d
NSUETA! ftheR ST HI0TdT STHR. JTURE] SITAT?

(A) 1.6 mm
(B) 2.0 mm
(©) 2.5 mm

(D) 3.15 mm

Correct Answer : A

10). What does the fourth digit indicate as per
AWS electrode codlng'? | AWS smws chllsil-j{-lli
Y b B

(A) Welding current | CIRSURCIE

(B) Tensile strength | GINIRERIEIRIESI]

(C) Welding position |3’%"T1¢@Rﬁ

(D) Type of flux coating | eTad P IR
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Correct Answer : D

11). Which metal are used to make welding
machine earth clamp? | afegT 7=iF orf Ferg
SIAUGTTAST 10T YT aTuRdTa?

(A) Iron | g
(B) Brass|fel?|30"
(C) Aluminium | 3= gHTH

(D) Copper alloy | PR ‘E-I'I?L% frgor

Correct Answer : D

12). How do draw a curve in development

drawing? | saudc ?;I%"Iﬁ@ dsh D Blerdd?

(A) Compass | U
(B) Free hand | W1 8S
(© Templatelé'-ECI@I"cr
(D) Stencil | &fRa

Correct Answer : B

13). What is the name of the joint shown in the
figure? | ATHATHE GRIdcIed] Sliged A1d B 3Te?
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(A) Y joint|Y Glige

(B) Tee joint| <l Sigc

(C) Butt joint | € Slisc
(D) Elbow joint | Uedll Sl

Correct Answer : A

14). What is the number of nozzle suitable for
welding 50mm dia pipe, with 3.15mm wall
thickness? | 3.15mm f¥di=l SISt sfaaiedn 50 ot
LIy ' Y RIS AlSTera TRe
fodl 3M1g?

(A) 5
(B) 7
(© 10

(D) 13

Correct Answer : B

15). Which device is used to divide equal parts?

THME HRT fAUTITd HROTTTST B0 IUDHRUT
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(A) Scale|@m
(B) Scriber | PR
(C) Compass | ST

(D) Trysquare | CIT WIR

Correct Answer : C

16). What is the name of the joint shown'in the
figure? | 3PAHE GRIfATHT Sliscd A1d BT 3ATG?

(A) Pipe butt joint | U130 §¢ Sigc

(B) Pipe Tee joint | mécre%ﬁs‘d

(C) Pipe flange joint | méquﬁ\—rr\—rﬁs?
(D) Pipe composite joint | uﬁqﬂgmﬁsz

Correct Answer : C

17). What is the name of the development
drawing shown in the figure? |
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SR SEAUHE SIS A1d BT 3Tg?

A —= M3 aa +u N N

12 1 2.3 4 8 &6 7 8 9 10 11 12

(A) Y joint]Y Siisc

(B) 90° Tee joint | 90° T Gilec

(C) 90°.Elbow joint | 90° TeH! Slgc
(D) 45° Branch joint | 45° 9 Siige

Correct Answer : C

18). What is the welding position as per ASME for

a pipe joint held vertically? | ASME IR UTU=]

Siigcel 317 RYcld STuarrd! AfeS Tl fRuch B
?

(A) 1G
(B) 2G
(C) 5G

(D) 6G

Correct Answer : B
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19). What do you call the non - coated
electrodes? | a9 HIcS sdeISH YU h1g?

(A) Raw electrode | d=Il 3@3@3

(B) Bare electrode | F3R 3@3@3

(C) Base electrode | a9 3@3‘@’5’

(D) Deep penetration electrode | @ﬂuﬁﬁamsﬁaej@;

Correct Answer : B

20). Which type of fixed ]%F&e posmon is inclined

at 45°? | CA IR EARES) fRUat 45° R
?

O

(A) 1G
(B) 2G
(C) 5G

(D) 6G

Correct Answer : D

21). What is the name of the Jomt shown in the

figure? | P GRITIAT Sigcd A1d BRI 3g?
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(A) Tee|Tt
(B) Butt|§<T
(C) Elbow | Tedl
(D) Branch | ®ic

Correct-Answer : C

22). Which filler rod is used for bronze welding
of cast iron, malleable iron and copper? | ¥

ASUARY Al ATl did B S T3]
P IUTT RIS ST TR Bl SHTa?

(A) Manganese, Bronze, filler rod | TS, i, WR1E S

(B) Copper, Phosphorus, filler rod | OYJTLJQ, LP\IJH\N{-I, PR IS

(C) Copper, Phosphorus alloy filler rod | PIIR, HIERY Fy
YTl HRII s

D) Copper, Zinc, Nickel filler rod | IR, foiw, v
1S

Correct Answer : D

23). What is name of the development drawing

shown in the figure? | &W
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Y e

SEAUHC QIgi Td BTy 3MT?

0
1
24

3 21 01 2 3

s
RN

01 234586 5432 10

(A) Yjoint|Y SiiSc

(B) Tee joint | <l Sigc

(C) Elbow joint | w Gﬁ%_cr
(D) Branch joint | CE| Sige

Correct Answer : D

24). What is the name of the system, if two or
three cylinders are coupled with suitable device?

| &IF fdbar i fifeiex SUBRUTIG SIS
uvn?ﬂ%r:lwmern%?

(A) Portable manifold | nNdad AfNwIcs
(B) Stationary manifold | RR AR®IE
(C) Multiple manifold | 3® AHmIcS

(D) Series manifold | SIS CAREIE LA G

Correct Answer : A
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25). Which type of filleg rod shall contain higher
percentage of iron? | S0 YhR™ [heRR XS ¢l
SR UHTUTC 3RIeT?

(A) Ferrous | ™
(B) Non - ferrous | GIGR T

(C) Alloy type of ferrous metals | GE] YTl UPpR Y YT,

ED) Alloy type of non - ferrous metals | oy YTl U IR -
U,

Correct Answer : A
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NIMI Mock Test

1). Which steel material are not weldable? | DIUT
et Tt afeS T HRUARNY gl

(A) High carbon steel | 3= BT Td
(B) Medium carbon steel | AYH HTe TId
(C) Austenitic stainless steel | Jfeffes waag

(D) Ferrite and martensitic stainless steel | ﬁv_\"l's'ﬁ 3rfor
ﬁﬁrﬁw wIag ©id

Correct Answer : D

2). Which type of test is generally not used on
the final product? | 3ifaH ITGAIaR HHRI:
DIUIAT THR! U AR ST AIGH?

(A) Non-destructive test | a1 -%E@E?G' [
(B) Semi destructive test | @ﬁlﬁ-ﬂgﬂf [R5

(C) Destructive test | ICEIR G EIE

(D) Visual test | TR Al

Correct Answer : C

3). Which is added to make cutting tools
stronger? | ST o8 Holgd HRUANS! HIUd

I ASIGE
(A) Calcium carbide | HfeRTH FHES
(B) Tungsten carbide | E‘TR’-'-I?ETEITES

(C) Sodium carbide | TfSTH FES
(D) Potassium carbide | ¢RI HTEZS

Correct Answer . B
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4). How the weldla%cost is calculated? | SIRUE]
fhrd S Aot

(A) Electrode, Power, Labour | Eﬁﬂﬁg UTaR, daR
(B) Grinding, Power, Labour | UEFET, UlaR, TR
(C) Lighting, Labour, Material | UhTXT, daR, Hifed
(D) Power, Labour, Painting |tl\1JT:R, W,aﬁ"{

Correct Answer : A

5). Which flame is suitable for brass welding? |

fOde AfeSTTIST I wid vy 3H1g?

(A) Neutral | A&

(B) Oxidizing | SfifeTSTafZT

(C) Carburizing
(D) Slightly neutral | fhf<id Te®y

Correct Answer : B

6). Why aluminium is difficult to weld? |

oG ST HRU B0 BT 3HT?

(A) Less weight | S a5
(B) Oxide formation | GITER‘ITE'C%' fafdd

(C) High thermal conductivity | 3= YHd ATl

(D) Better strength weight ratio | ITel ATHA TS FHIOT

Correct Answer : B
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7). Why there is a lack of fluidity in molten metal

during braze welding? | CEICIRSC IR
ﬁiﬂa_gm YTTHE GdIhRUITT THTT DT SN?

(A) Over heating | ST 1¥d 3®Idl
(B) Proper flame | g TH
(C) Inadequate preheating | gt wgdn

(D) Improper cleaning and less use of flux | NG ATHHTE
CRTeRTaT hHT ITUR

Correct Answer : C

8). How weld decay can be removed from

(A) Peening | fURTT
(B) Cooling in oil | dc T BHicHT
(C) Cooling in sand | AT A HIciT

(D) Heating up to 950° to 1100°C and quenched in water |
950° o 1100° Ut gda 7T STIOT UTUgTd gSUI

Correct Answer : D

9). Which is used to control the distortion in
copper welding? | TiedTeaT dfeE TAEN 10Tl
fapal fHRd HRUTTST araR Sl Srdr?

(A) Key hole | P Ed

(B) Chill plates | 4¥S Wed

(C) Purging gas | IR [ B0

(D) Filler rod | fheR S
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Correct Answer : B

10). Which test method is conducted to find the

tensile strength? | d=g QKT MYTATITST DHI0Tc
<TG el o

(A) Impact | U4HId

(B) Tensile | =T

(C) Fatigue | et

(D) Guided bend | TER{d 38

Correct Answer : B

11). What is the purpose of job inspection after

welding? | AfSTHR Sid QUL SR S 3HTg?
(A) Determine faults and quality weld | I 3TfoT afegw <t
T[UTGT N0

(B) Determine the material | I o

(C) Determine the machine | A== <ol

g%?i@Determine the electrode fusibility | 3@3@’5’ wRyfaferdt

Correct Answer : A

12). What is the NDT method using sound as a

sé?%rce? | I T 31T IR NDT Usd H1d
?

(A) Visual inspection | %@WH’W

(B) Pressure test | ISR ¢

(C) Stethoscopic test | YRS ol
(D) Magnetic particle test | &g HUT A0l
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Correct Answer : C

132'. What is the colour of aluminium?

31 G ATHT T DT 3157

(A) White | UTGRT

(B) Brown|ﬂ'qm

(C) Silvery grey | Tl IRarS!
(D) Silvery white | IS UigT

Correct Answer : D

14). What is the name of test shown in the
figure? | 3P aRifdcied ArAUI 19 B

3MMe?

5

(A) Tensile test | UG Tr0R
(B) Impact test | TUNG TATION
(C) Free bend test | Wl 98 ¢

(D) Guided bend test | Guided de o

Correct Answer : D

15). What is the name of the test shown in the

gﬁ%reu&mmﬁmaéwamﬂ%rmm
?
5

(A) Impact | U4HId

(B) Fatigue | Yohdl

(C) Face bend | %@T[W

(D) Fillet fracture | fpdie TR
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Correct Answer : D

16). What is the name of Ehe tool\shown in the
figure? | ATHAHY GRATI Card A1d BT 3Tg?
5]

(A) Brazing cutting tool | ST Hf&T ga
(B) Carbide brazed tool | Wﬁgéﬁiﬁ
(C) Single point brazed tool | RifTel Ui siss ¢a

(D) Double point brazed tool | S&d Uigc oS cd

Correct Answer : A

17). Which test determins the leak in high
pressure vessel? | 3= GIaT=AT UGl TTodc
BT IEAUIGR

Ay KSIGE

(A) X - Ray test | Ta-X IrUn

(B) Usual inspection | A&l qumroft

(C) Gamma ray test | 147 foswor raoft

(D) Radio graphic test | JfS3{T Mithes ol

Correct Answer : C

18). What is the melting point of zinc? | SIXddl
fadesaTan fig w1 3mg?

(A) 200°C

(B) 419°C

(C) 619°C

(D) 1083°C
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Correct Answer : B

19). Which alternative procedure is used if other

cutting and gouging process are not available?
sﬂvav%ﬂ&r%ﬁﬁﬁﬂ gichaT SUTsY T
Tt Uik aTuRe SiTd?

(A) Friction welding |Wﬂaﬁéﬂ

(B) FCAW welding | FCAW afegT

(C) Arc gouging | 3T M

(D) Sub merged arc welding | 9 TS 3T afeg

Correct Answer : C

20). Which stage the root gap is set in welding
process? | AfcS UfohdHe ¢ 71T DU T
T Bl SITd?

(A) Before welding stage | afeST ewarg smeht
(B) During welding stage | ST T ™

(C) After welding stage | IfeET Wl AR

(D) Finishing welding stage | AfeST S AR

Correct Answer : A

21). What is the melting point of copper? |
disaran fadasuaren fag ®1d 3ile?

(A) 419°C

(B) 620°C

(C) 950°C

(D) 1083°C
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Correct Answer : D

22). What are the common welding tests
erformed in workshop? | JHTTHL FAHTUROT
TTIUGT BRI Bl SIdTd?

(A) Nick break, free bend, fracture | % 9%, wids, haaw
(B) Tensile test | dUId grauft

(C) Guided bend test | MESs §& AU

(D) Impact and particle test | YHId 31O 0T <Troft

Correct Answer : A

23). What is the name of the part marked as ‘X’

shown in the figure? | &Wcﬂﬂ?ﬁ X' WU
fergifehd cheiean MV ATd BT 3MTe?

Ly

L

(A) Spray | =

(B) Electrode arc | 3@3@3 3fTeh
(C) Power lead | iR ois

(D) Flux coating | FeTeRT DI

Correct Answer : A

24). Which is a property of aluminium?
3 TuTeH o 3MTe?

(A) Magnetic | dgH 1

(B) Less ductile | FHHI ddfd

(C) Non - Magnetic | R - ga@ g
(D) Brittleness | {dgesuun

________ Correct ANSWeEr = C o o o o e e e e e e e e e e
Contact - 9370948482, 8055403224, 9325721873
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25). How the construction of a nozgle for - .
gouging is identified? | TMISATETET ST HY §+dd
?

(A) Straight nozzle with single preheating hole | el
HNSEERSECEINN

(B) Bent nozzle \{vitfl sectorial preheating holes | e Rgd
BICTYg ¢ AAold

(C) Fully bent nozzle with circular preheating holes | TAThR
mémwmw

(D) Slightly bent nozzle with circular preheating six holes |

g1 o¢ uifefén ug

Correct Answer : D
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